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Q.1) Answer any two of the following : [12]
(@ Comment on the title of the short story ‘The Avenger’.
(b) How does Sylvia Plath personify the mirror ?

(c) Why does Tagore urge us to seek God in the tiller and the stone
breaker ?

(d) Why did Wasserkopf want a refund of the tuition fee ?

Q.2) Answer any three of the following in short : [12]
(@) How did Nicola and Jacopo work hard to earn money ?
(b) Comment on the nature of Uncle Podger.

(c) Describe in brief the different stages in life as described by
William Shakespeare.

(d) How did the conjurer damage Quick Man’s things ?

() Comment on the title of the poem ‘Gather ye Rosebuds while
ye may’.
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Q.3) Attempt any two of the following : [12]

(@) Express your views about the importance of Computer Education
in life.
(b) Write a brief dialogue on the following situation :
You and your friend are planning to arrange a one day trip of
your class.
(c) Write a letter to your friend whose mother died in an accident.
(d) Write a brief essay on the following topic :
‘Importance of Discipline in Life’
Q.4) Do as directed : (Any Six) [12]
(@ Fill in the blanks using suitable word given in the brackets :
(1) Ravi Varma’s are displayed at different art
galleries in India.
[work / works]
(i) I have received
[notice / a notice]
(b) Use phrasal verbs given in the brackets :
your shoes before you enter the temple and
a seat in the front row.
[take up / take off]
(c) Fill in the blanks choosing a suitable word from the brackets :
(i) Our won the match.
[team / teem]
(i) Do not your time.
[west / waste]
(d) Give synonyms of the following words :
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(i) affliction
(i) damage

2 Contd.



(e) Give short forms of the following words :
(i)  Programme
(i)  Organisation

()  Make words by using the following prefixes :
(i) pre
(i) un

() Make adjectives from the following words :
(i)  universe
(i)  power

(h) Make a sentence using phrasal verb given below :
give up

(i) Give full forms of the following :

(i) L.IC.
(i) PT.O.
Q.5) Do as directed : (Any Six) [12]

(@ You will come out of thy meditations.
[Change into an Imperative Sentence]

(b) Complete the following sentence by using a suitable relative
clause :

He is the boy
(c) Mahesh leaves home.

[Fill in the blank with a suitable adverb of frequency]
(d) Mohan said, “Don’t run away”.

[Change into Indirect Speech]
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(e) I like doing a little job of this sort.
[Add a Question Tag]

()  Complete the following sentence appropriately :
If | sleep on the ground

(g) Louis Mountbatten received the news.
[Change the V\oice]

(h) They permit him to burn it.
[Make a question using do/does]

(i) yes yes just a minute.
[Punctuate the sentence and rewrite]

(J)) The house of Seema is next to the canteen.

[Correct the sentence and rewrite]
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F. Y. B. Com. Examination - 2010
FINANCIAL ACCOUNTING
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Use of calculator is allowed.

Q.1) Objective type questions :
(@ True or False : (Any Six) [06]

(i)  Accounting Standards deal with Financial Measurements
and Disclosures used in producing a set of fairly presented
Financial Statements.

(i)  The reconstitution of the firm can take place on admission
of a new partner.

(i)  Sacrifice Ratio is equal to old ratio minus new ratio.

(iv) The profit on realisation is shared by all partners in their
capital ratio.

(v) A partnership firm may be converted into a limited company
for larger capital requirements only.

(vi)  Not for profit organisations are engaged in trading activities.
(vii) Shortworkings = Minimum Rent plus Royalty Payable.

(viii) The relationship between Consignor and Consignee is that
of a principal and an agent.
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(b)
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Fill in the blanks from the brackets : (Any Six)

(i)

(i)

(iii)

(iv)

v)

(Vi)

(vii)

function of accounting is performed by

maintaining the ledger accounts.

[Recording, Classifying, Summarizing]

In case of dissolution of partnership firm, realisable assets
and outsiders liabilities are transferred to realisation account
at

[Book Value, Market Price, Cost Price]

In the event of death of a partner, the accumulated profits
and losses are shared by the partners in their
ratio.

[Old Profit Sharing, New Profit Sharing, Capital]

The lessee’s right to recoup shortworkings is related to

[First Three Years, Terms of the Agreement, Subsequent
Two Years]

Over-riding Commission is calculated on
[Total Sales, Credit Sales, Cash Sales]

In Hire Purchase Transaction, Ownership of Goods is
transferred to the buyer when Instalment is
paid.

[First, Second, Last]
Microsoft Excel is an example of package.

[Pre-package, Customise, Spreadsheet]

[06]
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(c) Write short notes : (Any Three) [12]
(i)  Accounting Standards in India
(i)  Accounts of Professionals
(ii))  Distinction between Sales and Consignment
(iv) Concept of Grouping of Accounts
(v) Considerations for Selection of Accounting Packages

Q.2) Rohan, Sohan and Mohan were partners sharing profit and losses
in the ratio of 5 : 3 : 2 respectively. Their financial position was as

follows :
Balance Sheet as on 31st December, 2007
Liabilities Rs. Assets Rs.
Capitals : Stock in Trade 28,000
Rohan 12,500 | Books Debts 30,000
Sohan 10,500 | Fixtures 4,000
Mohan 2,000 | Cash 2,000
General Reserve Fund 5,000
Mrs. Rohan’s Loan 10,000
Mrs. Sohan’s Loan 10,000
Mr. Rohan’s Loan 10,000
Mr. Sohan’s Loan 4,000
64,000 64,000
The firm was dissolved on 1st January, 2008 when the assets realised
as follows :
Date Stock-in Book Debts | Fixtures Expenses
2008 Trade Rs. Rs. Rs. Rs.
10/01 4,500 5,000 3,000 500
17/02 6,000 5,000 - 800
24/03 14,400 10,000 - 900
30/04 3,000 5,000 900 400
Prepare a statement showing distribution of cash under Maximum Loss
Method. Apply Garner vs. Murray Case. [16]
OR
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Q.2) Following were the Balance Sheets as at 31-3-2009 of two firms under

the names of M/s. A and B and M/s. C and D :

Balance Sheet
as on 31-03-2009

Liabilities M/s.A&B | M/s.C&D Assets M/s.A&B |M/s.C&D
Rs. Rs. Rs. Rs.
Creditors 80,000 | 1,20,000 | Cash in Hand 22,400 46,800
Mrs. A’s Loan 20,000 — | Stock 81,600 73,200
Capital AJcs. — | Debtors 60,000 80,000
A - 1,60,000 — | Furniture 16,000 20,000
B - 80,000 — | Buildings 1,60,000 -
c - - 96,000 [ Investment - 60,000
D - - 64,000
3,40,000 | 2,80,000 3,40,000 | 2,80,000

The two firms decided to amalgamate their businesses from 1st April,

2009

under the name M/s. Swati and Co. For this purpose it was

agreed that :

(1)
(2)

3)

(4)
()

(6)
(7)
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Mrs. A’s loan should be repaid by the respective firm.

Investment of M/s. C and D was not taken over by the new
firm.

Goodwill of M/s. A and B was fixed at Rs. 32,000 and that
of M/s. C and D at Rs. 40,000.
Building was revalued at Rs. 1,00,000.

Stock of M/s. A and B was found overvalued by Rs. 16,000,
but the Stock of M/s. C and D was undervalued by Rs. 8,000.

A Reserve of 10% on debtors was necessary for bad debts of
both the firms.

The Capital of M/s. Swati and Co. was to be Rs. 3,20,000 which
was to be in their new profit sharing ratios which was to be
3 :2:3: 2 respectively. Capital should be adjusted in cash.
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(8)

Goodwill in the new firm to be written off.

Prepare Revaluation A/c., Partner’s Capital A/c., Cash A/c. in the books
of old firms and the Balance Sheet and Partner’s Capital A/c. in the
books of M/s. Swati and Co. [16]

Q.3) (A) Sandeep and Jayant are in partnership sharing profits and losses

(B)
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in the ratio of 3 : 2. Their Balance Sheet as on 31-12-2009 was
as follows :

Liabilities Rs. | Assets Rs.
Sundry Creditors 40,000 | Cash at Bank 8,000
General Reserve 12,000 | Sundry Debtors 60,000
Capitals : Stock 24,000

Sandeep 60,000 | Buildings 40,000
Jayant 20,000
1,32,000 1,32,000

They admit Ramesh as a partner and offer him %/ share in the
future profits which he obtains */,, from Sandeep and '/, from
Jayant. Ramesh is to bring in Rs. 20,000 as his Capital and
Rs. 8,000 for Goodwill. Goodwill amount is to be withdrawn
by the old partners. For the purpose of admission, Stock is to
be valued at Rs. 30,000 and Building at Rs. 44,000. A reserve
of Rs. 2,000 for Bad Debts is thought necessary.

Prepare Revaluation Account, Partner’s Capital Account and Bank
Account. [10]

Mehata Coal Ltd. obtained a lease of coal mine on 1st January,
2006 with a royalty of Rs. 3 per tonne with a Minimum Rent
of Rs. 20,000 per annum. The Minimum Rent over the actual
royalties can be recovered during the first four years.

The output from the coal mine was as follows :

Year Output in Tonnes

2006 4,000

2007 5,000

2008 8,000

2009 10,000

Pass necessary journal entries in the books of Mehata Coal Ltd.

for the first four years. [10]
5 P.T.O.



Q.4) Following is the Income and Expenditure A/c. of the Charitable
Hospital, Kolhapur for the year ending 31-12-2009 :
Income and Expenditure Alc.
for the year ending 31-12-2009
Expenditure Rs. Income Rs.
To Salaries 23,500 | By Subscription 22,000
To Diet Expenses 2,000 | By Donations 4,000
To Rent and Taxes 500 | By Interest on
Investment for full
To Insurance 200 year @ 5% p.a. 9,000
To Office Expenses 800 | By Miscellaneous
To Surgary and Receipts 600
Dispensary Expenses| 1,000
To Depreciation :
Furniture 120
Building 3,750
Instruments 800 4,670
To Excess of Income
over Expenditure 2,930
35,600 35,600

Other information supplied to you is as under :
On 31-12-2008 On 31-12-2009

Cash in Hand
Cash at Bank
Buildings
Furniture
Instruments

Subscriptions Outstanding

Salaries Outstanding

Subscriptions Received in Advance

Instruments Purchased during
the year Rs. 500
You are required to prepare Receipts and Payments A/c. for the year
ending 31-12-2009 and Balance Sheet as on that date.
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OR

6

Rs. Rs.
200 150
5,400 -
75,000 —
2,000 -
3,500 -
1,500 4,500
1,800 2,000
600 800

[20]
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Q.4) (A) 1,000 toys are consigned by Joy and Co. of Kochi to Vinay
of Mumbai at an Invoice Cost of Rs. 150 each. Joy and Co.
paid Freight Rs. 10,000 and Insurance Rs. 1,500. During the
\Voyage 100 toys were totally damaged by fire and had to be
thrown overboard. Vinay took delivery of the remaining toys and
paid Rs. 14,400 as Customs Duty.

Vinay sent a bank draft to Joy and Co. for Rs. 50,000 as advance
payment and later sent an account sales showing that 800 toys
had been sold at Rs. 220 each. Expenses incurred by Vinay on
godown rent and advertisement etc. amounted to Rs. 2,000. Vinay
was entitled to a commission of 5%. One of the credit customers
could not pay for 5 toys.

Prepare Consignment Account with necessary working note. [10]

(B) On 1st January, 2005 Mr. S. purchased a machine from Moon
Ltd. under Hire Purchase System. Rs. 50,000 being paid on
delivery and the balance in five instalments of Rs. 75,000 each
payable annually on 31st December. The vendor charges 5%
interest per annum on yearly balances. The cash price of the
machine was Rs. 3,75,000. Prepare account of Moon Ltd. in
the books of Mr. S.

Calculation of interest should be made nearest to Rs. 10. [10]
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[3769]-103
F.Y.B. Com. Examination - 2010

BUSINESS ECONOMICS (MICRO)
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Draw neat diagrams wherever necessary.

Q.1) Answer the following in 20 words each : (Any Ten) [20]
(1) Define Business Economics.
(2) What is Functional Relationship ?
(3) State the Law of Demand.
(4) What is Income Elasticity of Demand ?
(5) Define Oligopoly.
(6) What is Monopolistic Competition ?
(7) State External Economies.
(8) What is Marginal Revenue ?
(9) Define Profit.
(10) What is Cost Plus Pricing ?
(11) Define Rent.
(12) What is Collective Bargaining ?
(13) Enumerate Direct Cost.
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Q.2) Answer the following in 50 words each : (Any Two) [10]
(1) State External Diseconomies.
(2) Explain Non-economic Goals of Business Firms.
(3) Explain Concept of Quasi Rent.
(4) What are the various types of Costs ?
Q.3) Answer the following in 150 words each : (Any Two) [20]
(1) Discuss ‘Risk and Uncertainty Theory of Profit’.
(2) Explain Scope of Business Economics.
(3) Explain Loanable Funds Theory of Interest.

(4) Explain characteristics of Indifference Curve.

Q.4) Answer the following in 300 words each : (Any Two) [30]
(1) What is Demand ? Explain methods of Demand Forecasting.
(2) Explain Internal and External Economies.
(3) Critically examine Distribution Theory of Marginal Productivity.

(4) Explain Equilibrium of Firm and Industry in the short and long
run period under Perfect Competition.

[3769]-103/2



Total No. of Questions : 4] [Total No. of Printed Pages : 2
[3769]-103
A HATAX
35 : 3 d™] [cFoT 0T 80
z;raw by
(1) q& g97 TSI MTF 3TTE,
2) ITEIESIT 3 goArd GOl OT FOffIar.
(3) SMTITHAT HT A FIAF NTHFAT HIET.

4) TSt 7es Fusit gty ward,

7.1) TEHE WAl YAHl o EFd I 6l (FHIUTEr FE@T) [20]
(1) SITaATe rfeETar SR A,
(2) wEATHE I WO HE
(3) HAWMOfET HEH W

(4) HEoNET TFHT ddERaT TN B 9

(5) ISR ATSAT 4T,

(6) FHRGRIGE Wl TUN T ?
(7) oTEa Sl wi

(8) wHI wWiwl U B

(9) FUETEl ST

(10) 3Rew fFAad =/ dE 9
(11) TSHY AT =@,

(12) |FIfE®d HEUET /O B9
(13) 9TgT T |

[3769]-103 3 P.T.O.
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F.Y.B. Com. Examination - 2010
MATHEMATICS AND STATISTICS
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80
Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Use of logarithmic table and calculator is allowed.

(4) Both the sections should be written in the same answer-book.

SECTION - 1

Q.1) Attempt any four of the following : [2x4=08]

(a) Mr. A invested Rs. 3,100 in 6% shares at Rs. 124. How much
dividend will he get ?

[Face Value = Rs. 100]

3 4 7 2 1 8
®) IFA=1, 1 B=1, 3 5|

find A + B.

11 12
© IfA=|, | find3A.

(d) In what period a sum of Rs. 10,000 will earn a simple interest
of Rs. 3,200 at 8% p.a. ?
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(e) Shade region defined by the inequality 5x + y > 10.

() Let A= {x,y z} and B = {1, 2}. Find Cartesian Product
A X B.

Q.2) Attempt any three of the following : [5x3=15]

(a) Find difference between Compound Interest and Simple Interest
on Rs. 500 for 2 years at 10% p.a. (Compounded yearly).

(b) Find the determinant of the matrix :

N = W

2 6
1 2
2 5

(¢) Solve graphically the following LPP :
Maximize
z = 10x + 20y
Subject to
2x + 3y < 180
x + 4y < 160
x>0,y>0

(d) Solve the following system of linear equations using Matrix
Inverse Method :

4x +y=6

Ix —y=1
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(¢) Find EMI on a loan of Rs. 1,00,000 to be repaid in equal monthly
instalments. Interest is charged at 12% p.a. on the loan outstanding
at the beginning of each month and the timespan is 5 years.
[(1.01)* = 1.8199]

Q.3) Attempt any three of the following : [5x3=15]

(@)  What sum of money will amount to Rs. 43,200 at 5% p.a. simple
interest for 4 years ?

(b) Which is the better investment, 10% at Rs. 120 or 15% at
Rs. 140 ? Justify.

dy
) Ify=(x+4) x*-3), find i
K x? — 7x + 12
(d) Evaluate : .©, :
X —4
() If f(x) = 3x + 2, then find f(x + h) and hence show that
lim f(X + h) - f(X)
h—0 h = 3.
SECTION - II
Q.4) Attempt any two of the following : [2x2=04]
(@) Define the term Sample with illustration.
(b)  Find more than cumulative distribution for the following frequency
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distribution :

Class 11-15 16-20 21-25 26-30 | 31-35
Frequency 8 12 15 10 5
3 P.T.O.



(c) Compute Range and Coefficient of Range for the daily wages
(Rs.) of 8 workers in a factory :

90, 120, 150, 80, 120, 125, 105, 75.

(d) Define Negative Correlation with one illustration.

Q.5) Attempt any three of the following :

[Sx3=15]

(@) Define Index Number and state uses of Index Numbers.

(b) Describe Scatter Diagram and explain its utility in the study of
correlation between two variables.

(c) Explain procedure of Systematic Random Sampling.

(d) The monthly income (Rs.) of 10 families in a village is as

follows :

1200, 1000, 1100, 1250, 950, 1300, 1350, 1150, 1200, 1050

Find Mean, Median and Mode of this Income Distribution.

() The frequency distribution of daily expenditure of 100 college
students is given below :

Daily

Expenditure (Rs.)| 50-59 | 60-69 | 70-79 | 80-89 | 90-99 |{100-109(110-119]120-129

Number of

Students 3 10 18 25 24 10 6 4
Obtain :

(1) Class Boundaries of fourth class.

(11) Class Width of any class.

(111) Modal Class.

(iv) Class Mark of last class.

(v) Number of students having expenditure less than Rs. 89.

[3769]-104
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Q.6) Attempt any three of the following : [5x3=15]

(a) The following data relates to age distribution of 50 persons :

Age (years) Frequency
20-30 3
30-40 7
40-50 14
50-60 16
60-70 8
70-80 2

Find Mode of above distribution.

(b) Obtain Rank Correlation Coefficient for the ranks given by two
judges in a contest :

Ranks by Judge ‘A’ Ranks by Judge ‘B’

2

W

D s ] o] Wi N
AN |
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(c) Compute Standard Deviation for the following data :
15, 18, 22, 25, 10

(d) Two workers on the same job show the following results over
long period of time :

Worker ‘A’ | Worker ‘B’

Mean time of completing the
Job (in minutes) 30 25

Standard Deviation 6 4

(1) Which worker appears to be more consistent in the time
he requires to complete the job ? Why ?

(1) Which worker is faster in completing the job ? Why ?
(e) Calculate Price Index Number using :

(1) Laspeyre’s

(1)) Paasches

(111) Fishers Method for the following data :

Years 1980 1985
Commodities Price | Quantity| Price | Quantity
Rice 3 5 4.5 6
Coconut Oil 24 2 18 3
Tea 20 1 35 2
Washing Powder| 10 4 16 4
Sugar 3.5 4 6 5
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Q.7) Attempt any one of the following : [8x1=08]

(a) Find correlation coefficient between heights of fathers and their
sons from the following data : (heights in inches)

Height of Fathers | 65| 66 |67 [ 68 (69 | 70 | 72 | 67
Height of Sons 671 68166 |68 |72 |72 | 69|70

(b) (1) The correlation coefficient between two variables X and
Y is 0.6. If the means of two series are 13 and 27
respectively and standard deviations are 1.5 and 2 respec-
tively, find the regression line of Y on X.

(i) Draw histogram for the following frequency distribution :
Marks | 0-10 [ 10-20[20-30 | 30-40 | 40-50 | 50-60

No. of
Students| 15 25 60 40 35 25
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9.2) GRS Huadt i weA @igar [5x3=15]
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9.5) Uil Hueal @9 g diedn ¢ [5x3=15]
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[3769]-105

F. Y. B. Com. Examination - 2010
COMPUTER CONCEPT AND PROGRAMMING
(New 2008 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions :

(1) AIll questions are compulsory.

(2) Figures to the right indicate full marks.

(3) Both the sections should be written in the same answer-book.

SECTION - |

Q.1) Attempt any four of the following : [08]
(@) What is Internet ?
(b) What is Memory ? State its types.
(c) State disadvantages of E-markets.
(d) Define Search Engine.
(e) Explain the term Software. List its types.

()  Define Processor and Motherboard.

Q.2) Attempt any four of the following : [16]
(@ What is Printer ? Explain different types of Printers.
(b) Explain E-commerce with its types and advantages.

(c) State limitations of DOS and features of Windows Operating
System.

(d) Explain Control Panel used in Windows.
(e) Explain Floppy as an External Storage Device.

() What is Computer Network ? Explain any one type of Network.
[3769]-105 1 P.T.O.



Q.3) Attempt any four of the following : [16]

(a) Explain characteristics of Computer.
(b) Explain elements / components of Windows Operating System.
(c) What is Input Device ? Discuss Scanner and Web Camera as
Input Devices.
(d) Discuss DVD and Pen Drive as Storage Devices.
() Write a short note on Spreadsheet.
()  Explain different types of Programming Languages.
SECTION - 1l
Q.4) Attempt any four of the following : [08]
(@) Define Tally. State its application.
(b) What is Accounting ?
(c) Define Personal Account. State its rules.
(d) Define Order Processing.
() What do you mean by VAT Bills ?
()  What is Inventory Allocation ?
Q.5) Attempt any four of the following : [16]
(@) Explain advantages of Computerised Accounting.
(b) Explain characteristics of Tally.
(c) How to create Purchase Order in Tally ? Explain.
(d) Explain Creating, Selecting and Shutting a Company in short.
(e) Explain Journal and Ledger with its formats.
()  Explain Calculation of VAT with suitable examples.

[3769]-105
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Q.6) Attempt any four of the following : [16]
(@) Explain List of Accounts.
(b) How to create Sales Order ?
(c) Define Trial Balance in detail.

(d) What is Balance Sheet ? Explain steps for creating Balance
Sheet in Tally.

(e) Write different types of Voucher Entries.
()  Explain Profit and Loss Account in Tally.

[3769]-105/3



Total No. of Questions : 6] [Total No. of Printed Pages : 3

[3769]-105
AE FUTAR
9% : 3 dM] [gspur aqor ;80
AT
(1) qd g7 FISAvl 3MIeTqFH 38,
(2) ISEIBSIT 3 geATd qUf OT FIfaar.
(3) FI= frymr v FEEEeT @isardd.
faumT - ¢
7.1) Jeidudl FHiUal IR T WiEdT [08]

(31 FeHT RIS HI ¢

(F) TEY BN B ? AU YBR (dEl

(F) T-ABST dIC WAL

() T IHEAIr aEr TR

(3) TURIIN TIN M ¢ A YHR HOE 7

(%) Processor 3T Motherboard<t =mRem fetar.

9.2) Yeldud! FHiUMal IR T WiEdT [16]
(37) T ®|IN T ? YR W B
(F) T-HHA TN FE ? PR IMMUT BES TCSIHOT HJ4.

(®) DOS=m #uisT fa@r @ Windows Operating Systemt afdrest
fotar.

() Windows ®eI arqicier Control Panel® TTiesyor 1.
(3) Floppy STes &RUT HIM FUH ICIHTT F.

(%) Computer Network oSl H™ ¢ HIUAE TH T H.
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9.3) Yeldud! HiUdal IR T WEdT [16]
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9.6) JlcTis HIUCEN TR YT WAl [16]
(31) List of Accounts TI<EIHIOT AT,
() e Sales Order HIM YR IR HETd ©

(%) Trial Balance™! AT T &

() Balance Sheet ®=uist %@ ? Balance Sheet TR HvaTl
JieRaT .

() \oucher Entry fafaer g @ &,
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Time : 3 Hours]

[3769]-106
F.Y.B. Com. Examination - 2010

COMMERCIAL GEOGRAPHY

(Old 2004 and New 2008 Pattern)

Instructions :

(1) AIll questions are compulsory.

(2) Neat diagrams must be drawn wherever necessary.

(3) Use of map stencil is allowed.

[Total No. of Printed Pages : 2

[Max. Marks : 80

Q.1) Answer the following upto 20 words each : (Any Ten)

(1)
(2)
3)
(4)
()
(6)
(7)
(8)
(9)
(10)
(11)
(12)
(13)

[3769]-106

Write any two names of Primary Economic Activities ?

What is Cultural Environment ?

What is Relative Location ?

State main types of Resources.

Define Subsistence Farming.

Define Wind Energy.

What is Death Rate ?

Give any two Industrial Regions of India.
State any two advantages of Railway Transport.
Mention two types of Trades.

Define Optimum Population.

State two National Parks of India.

Give types of Bar Graphs.

[20]
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Q.2) Answer the following upto 50 words each : (Any Two) [10]

(1) Physical Environment

(2) Non-renewable Resources

(3) Possibilism

(4) Iron and Steel Industry in India

Q.3) Answer the following upto 150 words each : (Any Two) [20]
(1) Write difference between Optimum and Over-population.
(2) Mention salient features of any two forest types of India.
(3) Compare Determinism and Possibilism.

(4) Dived Circle

Q.4) Answer the following upto 300 words each : (Any Two) [30]

(1) Write note on approaches to the Study of Commercial
Geography.

(2) Explain main types of Farming in India.
(3) Give an account of Weber’s Theory of Industrial Location.

(4) Compare various Modes of Transport.
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[3769]-107

F. Y. B. Com. Examination - 2010
CO-OPERATION
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80
Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer the following in 20 words each : (Any Ten) [20]
(1) Give definition of Co-operative Society.
(2) State two features of Co-operation.
(3) What do you mean by Democratic Control of Co-operatives ?
(4) State two recommodations of Maclegan Committee.
(5) What is Co-operative Education ?
(6) Give two examples of Weaker Sections Co-operatives.

(7) State two drawbacks of Leadership in Co-operative Movement
in Maharashtra.

(8) State two duties of Promoters.

(9) Define Bye Laws.

(10) State two importance of Bye Laws.

(11) State two features of Co-operative Societies Act, 1904.
(12) Define Primary Agricultural Credit Co-operative Society.

(13) What are Consumer Co-operatives ?
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Q.2) Answer the following in 50 words each : (Any Two) [10]
(1) Explain Scope of Co-operation.
(2) State importance of Principle of Open Membership.
(3) Explain Registration Procedure of Co-operative Society.

(4) State importance of Principle of Co-operative Education.

Q.3) Answer the following in 150 words each : (Any Two) [20]
(1) Explain features of Co-operatives Societies Act, 1912.
(2) Explain importance of Credit Co-operatives.
(3) Explain Legal Procedure of Amendment in Bye Laws.

(4) Explain importance of Non-agricultural Credit Co-operatives.

Q.4) Answer the following in 300 words each: (Any Two) [30]

(1) Explain in detail the Impact of Co-operative Societies Act, 1912
and 1925 on Co-operative Movement in India.

(2) Give a brief account of Growth of Urban Co-operative Banks
in Maharashtra.

(3) Explain provisions in Maharashtra Co-operative Societies Act,
1960 regarding Registration of Co-operative Society.

(4) Explain importance of Bye Laws from the point of view of day
to day working of Co-operative Society.
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[3769]-108

F. Y. B. Com. Examination - 2010
DEFENCE BUDGETING, FINANCE AND MANAGEMENT
PAPER - |
DEFENCE ORGANISATION AND MANAGEMENT IN INDIA
(New 2008 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions :

(1) AIll questions are compulsory.

(2) Figures to the right indicate full marks.

Q.1) Answer in 20 words each : (Any Ten) [20]
(1) What is meant by “‘Air Force’ ?
(2) Define Paramilitary Forces.
(3) What do you mean by Inter-service Organisation ?
(4) Write aim of Defence Policy.
(5) Name all the Commands of Indian Air Force.
(6) Write function of Army Training Command.
(7) Write Concept of Blue Water Navy.
(8) What are the main roles of Coast Guard ?
(99 Why NCC was established ?
(10) Define ‘Intelligence’.
(11) Introduce INS VIRAT.
(12) Write role of AMC.
(13) Write role of Signal Corps.
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Q.2) Answer in 50 words each : (Any Two) [10]

(1) Explain development of Combat Fleet of IAF.
(2) Write development of Army after 1947.
(3) Write main functions of Civil Defence.
(4) Explain Power of President on Armed Forces.
Q.3) Answer in 150 words each : (Any Two) [20]
(1) Explain Principles and Process of Intelligence.
(2) Why Territorial Army is essential for Military Security ?
(3) Explain functions of CRPF and SRPF.
(4) Establish relationship between Parliament and Armed Forces.
Q.4) Answer in 300 words each : (Any Two) [30]
(1) Write an essay on Chief of the Staff Committee.

(2)
3)
(4)

Explain Organisation Structure of Ministry of Defence.
Explain characteristics, role and limitation of Armoured Corps.

Write an essay on Indian Intelligence Organisations.
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[3769]-109
F.Y.B. Com. Examination - 2010

BANKING AND FINANCE
(FUNDAMENTALS OF BANKING)
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer following in 20 words each : (Any Ten) [20]
(1) Explain meaning of Bank.
(2) What is Profitability ?
(3) Define *‘No Frills Account’.
(4) What is Demand Draft ?
(5) What is Mail Transfer ?
(6) What is Current Deposit Account ?
(7) What is Joint Account ?
(8) Define Bill of Exchange.
(9) What is Bearer Cheque ?
(10) What is A.T.M. Facility ?
(11) What is Tele Banking ?
(12) What is full form of ‘SWIFT’ ?
(13) What is Debit Card ?
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Q.2) Answer the following in 50 words each : (Any Two) [10]

(1) Explain Origin of Banking in India.
(2) Explain Procedure for Closing Bank Account.
(3) State Effects of Endorsement.
(4) State Need of Technology in Banking.
Q.3) Answer the following in 150 words each : (Any Two) [20]
(1) Explain Procedure of Opening and Operating Saving Account.
(2) State various types of Individual Account Holders of Bank.
(3) State Conflict between Liquidity and Profitability.
(4) State various types of Cheques.
Q.4) Answer the following in 300 words each : (Any Two) [30]
(1) Explain Functions of Commercial Banks.
(2) Explain Methods of Remittances.
(3) Explain in detail Liability and Asset Side of Commercial Bank
Balance Sheet.
(4) What is Negotiable Instrument ? State definition and characteristics

of Bill of Exchange.
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[3769]-110
F. Y. B. Com. Examination - 2010

MANAGERIAL ECONOMICS
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80
Instructions :
(1) All questions are compulsory.

(2) Figures to the right indicate full marks.
(3) Draw neat diagrams wherever necessary.

Q.1) Answer the following in 20 words each : (Any Ten) [20]
(1) Define Managerial Economics.
(2) Define Capital Budgeting.
(3) What is Total Cost ?
(4) What are Mergers ?
(5) What is Investment for Replacement ?
(6) State the Law of Demand.
(7) What is Demand Forecasting ?
(8) What is Price Elasticity of Demand ?
(9) What is Multiple Product Pricing ?
(10) What is Fixed Cost ?
(11) What is Sales Maximisation Objective of the Firm ?
(12) What is Cost Plus Pricing ?

(13) What are Private Goods ?
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Q.2) Answer the following in 50 words each : (Any Two) [10]

(1) What are the Exceptions to the Law of Demand ?
(2) Explain Usefulness of Capital Budgeting.
(3) What is the importance of Elasticity of Demand in Business
Decisions ?
(4) Explain Investment Decision for Diversification.
Q.3) Answer the following in 150 words each : (Any Two) [20]
(1) Explain Concept of Average Rate of Return to Investment.
(2) What is the Concept of Peak Load Pricing Practice ?
(3) Explain Growth Maximisation Objective of the Firm.
(4) Explain Intentions Survey Method of Business Forecasting.
Q.4) Answer the following in 300 words each : (Any Two) [30]
(1) What are Economic Reforms ? Explain with reference to Indian
Economy.
(2) What is Cost Benefit Analysis ? Explain steps in Cost Benefit
Analysis.
(3) What is Price Elasticity of Demand ? Explain various types of
Price Elasticity of Demand.
(4) Explain scope and characteristics of Managerial Economics.
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[3769]-111
F. Y. B. Com. Examination - 2010

OFFICE MANAGEMENT
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer the following in 20 words each : (Any Ten) [20]
(1) What do you mean by an Office ?
(2) Define Office Management.
(3) Define Office Environment.
(4) Define Job Measurement.
(5) What do you mean by Retention of Records ?
(6) What do you mean by Indexing ?
(7) What do you mean by Communication ?
(8) What is Tele Conferencing ?
(9) What is Training ?
(10) What do you mean by Notice of Meeting ?
(11) What do you mean by Office Enquiries ?
(12) What do you mean by Centralised Office Services ?
(13) What is Office Services ?
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Q.2) Answer the following in 50 words each : (Any Two) [10]

(1) Explain importance of Office Environment.
(2) Explain characteristics of an Office System.
(3) Explain importance of Public Relation.
(4) What are the Methods of Records Management ?
Q.3) Answer the following in 150 words each : (Any Two) [20]
(1) Explain Principles of Location of an Office.
(2) What are the difficulties in ideal flow of work ?
(3) Explain various methods of Training.
(4) Explain Contents of Minutes of Meeting.
Q.4) Answer the following in 300 words each : (Any Two) [30]
(1) Define Filing. Explain methods and importance of Filing.
(2) What are the elements of Office Communication ? Explain
principles of Effective Office Communication.
(3) Define Office Manual. Explain contents and advantages of Office
Manual.
(4) Define Office Automation. Explain advantages and disadvantages

of Office Automation.
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[3769]-112

F. Y. B. Com. Examination - 2010
ESSENTIALS OF E-COMMERCE
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80
Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Give illustrations wherever necessary.

SECTION - |
Q.1) Explain in brief any four of the following terms : [08]
(@) Website
(b) www
(c) FTP
(d) Internet Relay Chat
(e) Telnet
()  E-cash
Q.2) Answer any three of the following : [12]

(a) Explain requirement of Electronic Payment System.
(b) Explain briefly the following terms :
(i)  Gopher
(i)  Encryption
(c) What is Internet ? Explain common way to connect Internet.
(d) Explain briefly the following terms :
(1)  Firewall
(i) URL
(e) Distinguish between Traditional Commerce and E-commerce.
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Q.3) Answer any three of the following :

(@)
(b)
(©)
(d)
(€)

Explain scope and limitation of E-commerce.
Explain Security Issues related to E-commerce.
Distinguish between Credit Card and Debit Card.
Write a short note on C2C E-commerce.

Explain briefly Pre and Post Payment Services.

SECTION - 1l

Q.4) Explain in brief any four of the following terms :

(a)
(b)
(©)
(d)
(€)
()

E-ticketing

E-finance

Electronic Intermediaries
E-procurement
Encryption

Banners

Q.5) Answer any three of the following :

(@)
(b)

(©)
(d)
(€)

[3760]-112

Explain Legal Issues related to E-commerce.
Explain briefly the following terms :

(1) E-stock Trading

(i)  E-banking

What are E-catalogues ? Explain benefits of E-catalogues.

Distinguish between Traditional Trading and E-trading.

What is Direct Marketing ?

[12]

[08]

[15]

Contd.



Q.6. Answer any three of the following : [15]

(@ What is Digital Economy ?

(b) What is One-to-one Marketing ?

(c) Explain Seller Oriented Market Space.

(d)  Write a short note on On-line Booking Procedures of Railways.

(e) Explain State of E-commerce in India.
Q.7) Answer any one of the following : [10]

(@) What is E-marketing ? How E-advertising is used in
E-marketing ? Explain various resources of E-advertising.

(b) “The Internet and E-commerce have fundamentally altered the
way companies do business.” — Discuss.

[3769]-112/3



Total No. of Questions : 4] [Total No. of Printed Pages : 2
[3769]-113

F. Y. B. Com. Examination - 2010
CONSUMER PROTECTION AND BUSINESS ETHICS
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80
Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer the following in 20 words each : (Any Ten) [20]
(1) What is meant by ‘Consumer’ ?
(2) State any three functions of Voluntary Consumer Organisation.
(3) State any three problems of Urban Consumers.
(4) Define the term ‘Goods’ under Consumer Protection Act, 1986.
(5) State any three Rights of Consumers.
(6) State any three features of Consumer Protection Act, 1986.
(7) What is meant by ‘Information’ under Right to Information Act ?
(8) State any three features of Right to Information Act, 2005.

(9) State any three Offences under Standards of Weights and
Measures Act, 1976.

(10) State any three ways to recognise Adulterated Food Articles.
(11) Define the term ‘Business Ethics’.
(12) State any three Social Responsibilities of Business.

(13) What is meant by ‘Advertising’ ?
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Q.2) Answer the following in 50 words each : (Any Two) [10]

(1) Explain the term ‘Consumer as a King’.
(2) State problems of Rural Consumers.
(3) Write application form - Information Obtaining Form.
(4) State provisions of Standards of Weights and Measures Act,
1976.
Q.3) Answer the following in 150 words each : (Any Two) [20]
(1) Explain limitations of Voluntary Consumer Organisation.
(2)  Write Procedure of Filing Complaint under Consumer Protection
Act.
(3) Explain precautionary measures for use of Goods and Medicines.
(4) Explain responsibility of business regarding Environmental
Protection.
Q.4) Answer the following in 300 words each : (Any Two) [30]
(1) What is “‘Consumer” ? Explain three dimensional concept of a
Consumer.
(2) Explain ‘Three Tier Redressal Machinery’.
(3) Explain provisions of Appointment and Duties of Public Infor-
mation Officer.
(4) Explain Administrative Machinery in preventing Food

Adulteration.
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[3769]-114
F. Y. B. Com. Examination - 2010

BUSINESS ENVIRONMENT AND ENTREPRENEURSHIP
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer the following in 20 words each : (Any Ten) [20]
(1) What is ‘Parallel Economy’ ?
(2) Define the term ‘Business Environment’.
(3) What is ‘Inflation’ ?
(4) What do you mean by ‘Entrepreneur’.
(5) What is ‘Regional Imbalance’ ?
(6) Define the term ‘Intrapreneur’.
(7) What is ‘Economic Development’ ?
(8) State the concept ‘Dynamics of Motivation’.
(9) What is “YASHADA’ ?
(10) Define the term ‘Entrepreneurship’.
(11) What is ‘MITCON’ ?
(12) State any four names of Companies in Kalyani Group.
(13) Define the concept ‘Entrepreneurial Behaviour’.
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Q.2) Answer the following in 50 words each : (Any Two) [10]

(1) Distinguish between Entrepreneur and Intrapreneur.
(2) State Causes of Inflation.
(3) Explain importance of Entrepreneurship.
(4) Write a note on DIC.
Q.3) Answer the following in 150 words each : (Any Two) [20]
(1) Explain in detail the types of Business Environments.
(2) Describe in detail the importance of Business Environment.
(3) Write a detail note on MCED.
(4) Describe in detail the Habits of Entrepreneurs.
Q.4) Answer the following in 300 words each : (Any Two) [30]
(1) Describe in detail the qualities of a Successful Entrepreneur.
(2) Explain causes and remedies of Poverty.
(3) Explain in detail the Entrepreneurship in Economic Theory.
(4) Describe Entrepreneurial Career of Bhavarlal Jain.
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[3769]-115
F. Y. B. Com. Examination - 2010

INSURANCE AND TRANSPORT
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer the following in 20 words each : (Any Ten) [20]
(1) Define Insurance.
(2) What is Re-insurance ?
(3) Define General Insurance.
(4) What is meant by Insurance Policy ?
(5) What is meant by Cattle Insurance ?
(6) What is Accident Insurance ?
(7) What is International Tourist ?
(8) What is Travel Agent ?
(9) What is Tourism Market ?
(10) What is Air Transport ?
(11) State two characteristics of Rail Transport.
(12) What is Water Transport ?

(13) State two characteristics of Tourism.
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Q.2) Answer the following in 50 words each : (Any Two) [10]
(1) Explain need of Life Insurance.
(2) Explain role of Insurance Agent.
(3) Explain need of Tourism.

(4) State advantages and disadvantages of Air Transport.

Q.3) Answer the following in 150 words each : (Any Two) [20]
(1) Explain Features of Tourism Product.
(2) State Organisation of General Insurance Corporation.
(3) Explain Development of Tourism in India.

(4) Explain Need and Importance of Transport.

Q.4) Answer the following in 300 words each : (Any Two) [30]
(1) Explain Scope of Tourism.
(2) Explain Fundamental Principles of Fire Insurance.
(3) Explain Principles of Life Insurance.

(4) State Features of Transport.
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[3769]-116
F. Y. B. Com. Examination - 2010

MARKETING AND SALESMANSHIP
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer the following in 20 words each : (Any Ten) [20]
(1) Name Stages in Evolution of Marketing.
(2) What are the Social Objectives of Marketing ?
(3) State four elements of Marketing Mix.
(4) State any two Principles of Marketing Organisation.
(5) What do you understand by the term ‘Channel of Distribution’ ?
(6) Name any two Methods of Pricing.
(7) State elements of Promotion Mix.
(8) Define Salesmanship.
(9) What is Tele Marketing ?
(10) State Objectives of Advertising.
(11) What is Marketing Research ?
(12) What is E-marketing ?
(13) What is Advertising Budget ?
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Q.2) Answer the following in 50 words each : (Any Two) [10]

(1) How are the markets classified on the basis of time ?
(2) Write a note on ‘Economic Environment’.
(3) Explain in brief, various Forms of Indoor Advertising Media.
(4) Why is Rural Marketing important in India ?
Q.3) Answer the following in 150 words each : (Any Two) [20]
(1) Explain Customer Based Marketing Organisation. Draw chart.
(2) List and explain Duties of Sales Manager.
(3) What are the grounds on which Advertising is criticised ?
(4) Explain advantages of salesmanship to Manufacturers, Customers
and Government.
Q.4) Answer the following in 300 words each : (Any Two) [30]
(1) Explain various Functions of Marketing. Draw chart.
(2) Describe various Channels of Distribution used for Marketing
Products.
(3) Describe techniques used for Promotion of Products.
(4) What are the bases used for undertaking Market Segmentation ?
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[3769]-117
F. Y. B. Com. Examination - 2010

FOUNDATION COURSE IN COMMERCE
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer the following in 20 words each : (Any Ten) [20]
(1) What is Credit Rating ?
(2) Why do you mean by ‘Bank Rate’ ?
(3) What do you mean by Hacking ?
(4) Define ‘Consumer Delight’.
(5) What is Portfolio Management ?
(6) What is the meaning of the term ‘Liberalisation’ ?
(7) Define ‘Seed Capital’.
(8) What do you mean by ‘Sensex’ ?
(9) What you mean by “Yellow Pages’ ?
(10) Define ‘Primary Market’.
(11) Write full form - SWOT and JIT.
(12) What do you mean by Labour Intensive Technique ?

(13) What is ‘Internet Banking’ ?
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Q.2) Answer the following in 50 words each : (Any Two) [10]

(1) Explain role of NGO in India.
(2) Discuss advantages of Outsourcing.
(3) What is the Organisational Structure of Trade Association ?
(4) Explain features of Spot Market. (any three points)
Q.3) Answer the following in 150 words each : (Any Two) [20]
(1) Explain in brief Important Labour Laws in the Country.
(2) Describe features of Commodity Exchange in India.
(3) Discuss objectives of Trade Association.
(4) Explain features of Government Company in India.
Q.4) Answer the following in 300 words each : (Any Two) [30]
(1) Discuss objectives and activities of Maharashtra Chamber of
Commerce, Industry and Agriculture.
(2) Explain recent trends in Banking Sector in India.
(3) Describe role of SEBI.
(4) Explain state of India’s Public Sector today. What challenges

does it face ?
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[3769]-117
A FUTAR
9% : 3 d™] [TpoT Tor : 80
qAAT
1) Td g7 FSfaor MT9TF T
2) ITAIESIT 3fF goArd GOl OT FOIfIar.
7.1) GBI 0 FA II AT : (FIUTARET <T@ [20]

(1) udassit (Credit Rating) #=osl &1 9

(2) T®S T|US FH ¢
(3) EFmT (Hacking) =orst ®1@ ©
(4) TE® 3mEs (Consumer Delight) #=orst &I 9

(5) TwEwE @aRma_ (Portfolio Management) oSt & 9
(6) ‘Rrirelieeer Sehoanar 3 ™ d HE.

(7) ‘I Higde’dT AT .

(8) ‘fageri®’ (SENSEX) Ut &/ ?
(9) ‘gt 9@’ (Yellow Pages) =oist & ?

(10) ‘9ratas TUs’ Ahcg-<l ATSAT 9T.

(11) w@fe (SWOT) =iy semEer ()= o7 &9 .

(12) SHYE T RS & 9

(13) ‘ScHe AfFT B/ ®E 9
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7.2) WAH Yo A IAY AT : (HIUHERT TH) [10]

(1) WRAE foRermEs @i qiHsr T $.

(2) IECTRFE BEE I Il B

(3) WUR Tl FOSA AT B 9

(4) THTH (Spot) TERMET AR e FAL (FIUTHE! i HAE)

7.3) YAl 4o MEd IA AT : (FIUARD FHA) [20]

(1) é’?ll(‘lﬁl(ﬂ HEgdld PHMHITT FPs WS B

(2) wRAWE T fateErEt (Commodity Exchange) dfemesr aoiq
.

(3) U FEEr 3fER e S=l &L

(4) WA T SO IS T Fq.

7.4) YAH! 300 9MEFd I AT : (FIUEIET F) [30]
(1) ¥#ErRTe <X 3% S, TSI 308 Mdpcadl 3w a7

JUHH ITAOT T B

(2) HWRAIA BT STl STlheld Jarg I .
(3) W ST U FHA

(4) VRAIE AEAS ST AT IR e H. AT
AR HIOT T HA.
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[3769]-118
F. Y. B. Com. Examination - 2010
PERSIAN GENERAL
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80
Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.

- G el pl

[20] Dol eln Cowtir s 8 S5 1 A
& e LV &S Lty O
Chw b o Bl K U s (D)
Ce Y UFV UL iy (M
S N S r € b K U ()
& i A IV L LB Ayl (8)
e el b U Z G B (1)
S e i S0 g (9
CELbas LU Ve S W
53y S S e ol 0T Ut U ()
¢ Ll L
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S e of sz S U (1)

S Qn el Uk U e 35 ()
S S A LU B8R ()

Ce el b § UL L s E )

[10] A iz S s v A
SE kel S U Z 6T O
L

¢ gt G el s I L B A el ()
b
:ﬂ/bui/?m/.{ld(zf;;uﬁ‘j“}
O,
2t (D)

[10] WS R N P I O ) B3 I
157 § u%z ()
SR 0T ()
=l § ()
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[10] AL Il 2 e Zms s (2)
-2 e (LR
{
§ ebip @ et @ sy
_d yF
1051 & 2 R B8 S S5 b (D A
Enterprenour (1)
Agreement (V)
Deposit (1)
Consumer ()
Forecast (&)
Borrower (1)
Capitalisation (£)

Borrower (A)
[02] PNV UL ()
Jngwién9;/fgqu!6ﬁx Q)
- "LLP & b

~e oy s (D)
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[03]

[12]

[08]

sk JEE Ut UhE S S Usasr oF G
€S 2 = (D

cd Z o=7T (v

Csz 426 ()

L2 D

2l U o LT
EHIPIS T G P SN e S S TR ¢
Iz sl el (FD

:".Lf,z}ut;utu'&fgfgstédws

At present women have been playing major roles in
politics, economy, household., nationalism and nation
building. As for Indian women they are gradually
advancing in the fields of the politics, administration,
sports, cinema, performing art, medicine and science.
Girls perform better than boys in the board and
competitives exam. Indian women have proved their
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[3769]-119
F. Y. B. Com. Examination - 2010
ARABIC GENERAL - |
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 8

Q.1) Translate into English / Urdu / Marathi any two of the following
passages : [20]

5 &0 453 Y1 035 € 400 Gl (il (D)
il guials o0 p33 I3 i< oo

o33 193al5 of day ol &Ly J3¥
i oyl G355 S 1AL §sa a5
Jilll 3 olels izl faa I e dlal;
B G5 5 - El os3e g'—é—a‘é
129y duall Gay ol G p 20 g
LGNy Gusadll slas, Y15 o5 Mally oLisY
LosSall Gaglsdl g“lL.; gl ew

G
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[3769]-119

WG . ae delally sl s Lol 52 58 (o)

&y Y1 L Gud GSLa Ly 3,55 336 4K
gLl B pn S g lal g byl

Lo JEIS GIZEl 555 €alss o LS ¢ lal
tale Eui3h) - o2 o B LS G5

a3 5 - g8 IS & Sl il paal

QLI.Il by o canll JAJA §3s L5 gzl’;.wl

Ll ) (L5 . 81355 bl Gye o Jas
g LE e O35 sety i G Lyl
555 o 8558 Sems

GKEN 583 ol a3
o350 b Ba Al G

G L L gt

Lall sl Lgan ) Y15
Leallh 3 1500 Lglisly

Sy sub¥ Jﬁ
ole R3] pail

Walt & el K

- =

(%)

Contd.



Q.2) (A) Translate into Arabic any five of the following :

(1) The chair is comfortable.

(2) The boy i1s clever.

(3) The girl 1s sitting on the chair.
(4) This school 1s good.

(5) That car 1s beautiful.

(6) The teacher is busy.

(B) Translate into English any five of the following :

( - -

- daali Juadll 3
I
Ul 45yl 3
?;,'/ T -
- o5l saslidl e

9. s w
- . - A -
Sl Ll g

Q.3) Explain with examples any two of the following :
- slagll 5335210
ally eluiyadl
dodl Gladly ladl
Q.4) (A) Summarise any two of the following :
555350 s
G2y~

-
(s.
-

p—. \s

[3769]-119 3

(V)
(Y)
()
(¢)
(o)
QY

(V)
(v)
(¥)

(V)
(v)
(¥)

[10]

[10]

[10]

[10]
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(B) Write the term in Arabic any two of the following : [10]
Lodgall 5321 (1)
el Llslh 3 33.3‘.5 (v)
gl (LY (¥)

(C) Write a letter in Arabic to the Business Manager : [10]
LLatl 35800 e (I pall (3 Ul i S

OR
Write a letter in Arabic to the Company Manager.

Kyall pae M yall 3 UL i
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[3769]-120
F. Y. B. Com. Examination - 2010

ADDITIONAL ENGLISH
(New 2008 Pattern)
Text Prescribed : The Joy of Reading Literature
Time : 3 Hours] [Max. Marks : 80
Instructions :

(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) (A) Read paragraph carefully and find single words for each of
the phrases given below : (Any Four) [04]

It was nearly midnight when the astrologer reached home. His
wife was waiting for him at the door and demanded an
explanation. He flung the coins at her and said : “Count them.
One man gave all that”.

“Twelve and a half annas,” she said, counting. She was
overjoyed.

(@) almost at the same time
(b) one who foretells

(c) asked for

(d) threw at

(e) excessively happy
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(B) Fill in the blanks with correct form of the verb given in

brackets : (Any Two) [04]
(@) He (look) completely shattered when |
(meet) him that afternoon.
(b) If you (want ) to succeed,
(double) your failure rate.
(c) The tree that (bear) the most fruits also
(get) the most stones.
(C) Change the voice : (Any Four) [04]
(@) The accountant fetched the manager.
(b) He will deposit fifty six dollars.
(c) This gentleman is opening an account.
(d) I wrote something on the cheque.
(e) He gave me a fifty dollar bill.
(D) Add prefixes to the words given below : (Any Four) [04]
(a) - possible
(b) - natural
(c) - happy
(d) - climax
(e) - remarkable
Q.2) Answer any one of the following in detail : [16]
(@) Describe the place where the astrologer set up his daily business.
(b) Why did people thank Banu at the end of the story ?
[3769]-120 2 Contd.



Q.3) Answer any one of the following in detail : [16]

(@) Describe different types of bangles which the bangle-sellers
carry.
(b) How does squirrel justify her place in the world ?
Q.4) Answer any two of the following in short : [16]
(@) What are Nehru’s views about the Citizens of India ?
(b) How do persons in the field of advertising earn their livelihood ?
(c) When will India awake to ‘Life and Freedom’ according to
Nehru ?
(d) What was Patricia’s suggestion regarding their search for a
suitable hotel ?
Q.5) Answer any two of the following in short : [16]
(@ What is the emotional state of the poet when “‘Sonnet 29’ begins ?
(b) Give examples of nature imagery in ‘The World is too much
with Us’.
(c) Describe central idea of the poem “Success is Counted Sweetest’.
(d) Comment on the significance of title of the poem, ‘I, too, Sing

America’.
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[3769]-121

qUH I qiiuew 9iterm - 2010
HTIEINE T ST At

(AT j00¢ TaA)
FARAYEAS : (7)) STTHAIT
(k) FEEIRFE #AST

IS5 : 3 aw] [gspUr qor ;70
AT

(1) T g7 T JTTTF I7TE.

(2) IFAPSIT 3F FoATd gUl T FIAaI.
.1) Telicds! FHiorarat bt fawaraw fader foer - [10]

(1) ¥ AAST - FEAATET FS
(2) SETfaebeRIoT STIfoT  TRr8T0T

(3) TTEMEYYT ST Sd1

q.2) TCiicdss! FHIOTATEN SBT 99t o 3id 3R fotar [10]

(1) fIsa ™ =T MHENE™ T JE.

(2) W1 3T ITAT T ST Tt afeett MTessT BT 3T HIS STt ©

(3) FAIA TMAEHT AT AU NTIFRONT STF HIOTAT HASHTER, FOM

e o ?
(4) JIUGAT TROTAT HOHOT I8 qEEA! 2
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(5) Sf. HAW IET JTH HI3 T ?

([aNEaN

hiad @ Sl ©

(6) TIHA HAISY HIOTHT FHITAT TGRS

(7) 3MA FTAS AT A TR ARATE B Thall 9
(8) ST fR Tl ATesd BT BT BT 9

(9) 2. HAW T FMUET TSIATHZA B OT Had ?
(10) 9aUE YOR THAE FAIA HIOTAT FOAE RASER BT 9

(11) AT BISIARY JrAT AT Aid HA.

(12) 3MHATEHA Iodoicll Tl dARgGHEl MHAANT HOTAr 9

(13) IEAUT TEOTAT qTHIRT THEAT AATT FiAd ARGURN T

o

dlAdl HI 3IAL oA ¢

q.3) Tl FHIOTATEN THT YA 4o &Fid Iy foiar [05]
(1) T 29 T WL ST AT TATAT FEATETAT BT Fiade &Ear @

(2) 2. I\A FAW JiT UfET FAGT qUH B

7.4) TAIAUS! FIOETE THT FATT 340 IR I faar [10]
(1) ‘Toprad oo, fhraq oE® a7 dEr=T AR YIHid qiSY e
TR =0T H.
(2) ‘AT JATGHAONT 7T MR A TMAHHT TTeT A TRaAard
IR =,
q.5) TSl FOETE T geAat Iy fomar [20]

(1) oEAd IEERT Teid AR TghN 96, dTEenTa e TsEd
Taow agat AP 7 U WIEATd MR, ISl ARA 3T
dUTT B

(2) THEAT FENIATAIAT AR FHEHHAT TS HIOTTHGET FTariet
T THY giagd aamr .
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(3) ot BT TR AT IMUET AATAT JTHE RIOTHGT AR
dBPHS F. 3,40,000 FGT ANUN Bl 3MME. IAT FTATAL S[BAT
FIRMIEME! THI Ta” &,

(4) H.2.TT.UH. FEIAEE, ATRE AT AESTTAT@ITAT a1y TRaisD
TR0 TANHIGT WAias R HgA I0Eme! SeR =it

{AAl ddi bRl

9.6) WIUD! HIVTITET THT 9 39X foar [10]

(1) TETa TEHN b MHYF AT IaT WIHRIT =g Bl

2. EHAE! T e MYOMIF quR H.

(2) USITUHT FIUTATEL THT [ TETaR Ju=mars! Sferdrar AgET Jaw
HA .

(31)  TEUENT aRgET WA
(F) T F& EOMT FST Jaarter

9.7) (31 T AT T Ayl RIS $6d O FHYS idw
a1 [05]

IATSHIATIRIA ATH 3T A IS A 3. ATGr, 9w,
IS, TR AT AWHTH HIATET T Ho AT AT STTATAT
TEAT BN 0T qad O P ed. AWIAGA  AiSIHer

TIR FIOATET HeAT OISl ATV ATF Feddd aF &, AT

A dIIX pRUIT T HIUHTAT TAHHT T Slled 3THTd. AT

UTOATA HIATIAT Bl {TAT IS AMHR FESTIUT ST JAqTd. AT
T AT AISTAT Bt STSTHRET T &l T LT a0 Taveosd
ATEY, I I IS AU STAHAT BT STITOT AT IT s
IS SATAT. FIETAAT NaT ATAAT BT BN (ST ST1g. RAeAqd

4,000ST FTE YA HAICHAT THaT o $UFH I AT
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T TENT FAYUH FHARTT A6 AT T ST ATAIBTHTAT ST
ISt THeArT. [STRETAT ¢ 93]
EEU

(F) T AT AAST WIWidT & [05]

Have you ever felt weak and exausted after a long time in the
hot sun ? This is because your body has lost a lot of its water
through sweat. The weakness and the dry, parched feeling in
the throat and mouth direct us to drink water or other fluids,
so as to replenish the amount of water we have lost. Without
the right amount of water in it, our body would not be able
to perform its functions, so the correct water balance is crucial
for going through life’s activies.
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[3769]-122
F. Y. B. Com. Examination - 2010

SANSKRIT
( I )

(New 2008 Pattern)

9% : 3 ] [TERUT TUT : 60

Q.1) Translate into English or Marathi any two from Section ‘A’ and any

two from Section ‘B’ from the following passages : [20]
7.1) JEudl 3 [THETE HIOTED SE T T faWETdie Siorrat
e Usiia fohar #AST WWiaT F [20]

SECTION - A (T - 39)

(1) e,
T IEATRT MITSIs &R |
IR YAl WSt T Wa FAdEEd |

T T WAIEH: ‘TG W FHTRTTHTAT o= T | gia
FUT FAET AR A “HT T | @ TaARE faad 9q
ate sifwe Rremma geufasr | oo quiemdg |

(2) degen H=laEiuvaE - 9 Afs 7O HE O R afs |
ITed AR | HiSsdlq WEd U9 HRSANH | I
TEEIN T JUE aadl SEped: IO ||, 909
qEETEAT | T 9 IR 9sdt § e qesd T gqa: |
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(3) & - Waq | aa e |
T Tatgawle @7 7Y wulrsta |

TEE - greErdEq (3fa aimr e 1)

T - gd, TEIrE | qUErEEEEe . dEeE gHE |
T - TEEOEEEHE | (3T 9 WA Heudt)

T - (TANEIAE) A, JHUAie aEd U

TUTTATHNRAT =TT |
SECTION - B (fqwmr - 9)

(1) vS¥Fae guew fqugeaed AeH: |
ARG @A T & eHeaar @ |l
75 IRUMEd IO ErSd@ie aqr |
JEIIRE T F d g T ||

(2) Fe EfE AREGET $T AqgRE AN fagene |
TR e R 4 fadrem P I
Y WrEw @ ARG qd: gEee J9d |
TAGMY OAWST Wit JdAeT fatgar it |

(3) ¥ ¥ TUY TEHRAEA FPUEHAFT T
TATATERS JATE TR 7T |
HA=3adl BT A IE=aaAasN Rt

TAT TEISCHT Ad T dean w11 98 |

Q.2) Explain with reference to the context any one from Section ‘A’ and

any one from Section ‘B’ : [10]
7.2) ‘?7 Tammdidl HIvTamdt TRt 9 ‘@’ [qundia Fiotel U
TSUTHE TSR B [10]

SECTION - A (fwmr - &)
(1) TTeEH ERORRET AEAs T |
(2) SHYSTEA®HAl Tead Ungdd 3fq g9d g WeHa |
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Q.3)

9.3)

Q.4)

9.4)

SECTION - B (Rmr - =)
(1) Trafaks o waid d@gdr T9sor |
(2) TFAUrE: F®OT I fAeAd wiereiaad |

Write a long answer of any one of the following from Section

‘A’ and any one from Section ‘B’ : [20]
U TN HIOTATEr THT 99Td T ‘T [IWWIaidl HIorerat Tt
TS Gy 3T ToTEr [20]

SECTION - A (famr - 37)

(1) Write a story of STRG=H==H’ in your own words.

IR & FAT YT I=T (el

(2) Explain in detail ‘“Feradent.
FAABTAT HOT d WA T B

SECTION - B (fwmr - %)

(1) Write character sketch of ‘erart’ in ‘sta@l: THSEH'.

‘STEET: TASIEH AT UTSTEAT JMUN TERiT SATRaa0T el
(2) Critically appreciate lesson ‘ATEHETe.

ngﬂaill a7 g™ fadus LHYBYT P

Write short note on any one from Section ‘A’ and any one from

Section ‘B’ : [10]
3 TN HIUTATET ThTaR ‘T fImTdie Horemel TR fadasw
ST e [10]

SECTION - A (T - 39)

(1) ‘MEFUREY in the lesson ‘qUaTHHEREA M TAMHE
GUATHHSYAT A JAHe AT TEMIA  STHHARER.

(2) ToTEa: |
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SECTION - B (fqwmr - @)

(1) argﬁmiz |

(2) Character sketch of ‘aof’.

C o o
DU YTl
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[3769]-123
qUH g9 qIued g T - 2010

Ta=t
(AT R00¢ YaA)
g : 3 99| [‘3\'011?5 : 70
qgE® (1) FREEERT ;- TErEIE
(2) GIETEIRT : FTHGTE

(1) ¥t go7 3ifaard & |
(2) g 7R fored 3i woA & gonie &

7.1) (3N TfaRaa # ¥ FF=t S 9T & I 94T | e [06]
(1) T BT THAE B W W ER T AT 9

(2) WHERdr THl WM ™I del 9T 9redr o°ff @
(3) “IMSH HT YT A SHTH Bt AqMar ¥ Fodm & |7 - THT dErh
ERINC T
(4) =% A & THASHY T T F1IM 7
(3m FrAfaREa & & 6=t 81 9ol & 3w "@ew | fafsd [06]
(1) g 9q F IH-Jaal B JYIAT B A0 [FH GHR 6
g ?
(2) wa e domaiEt ¥ P wEE Ae g9

(3) ‘U FT T’ Hiaar H [FE FANAF dH G YR STAT
T
(4) ‘fimr saar § W e s e $ieg |
1
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7.2) (31 Tr=fafea # 9 T S sraaen of gas e Sitsg ;- [06]

(1) “Wg #Y FHIA A AT A F U LA 3d & M
# Iud UB-UR g@ @A g 17

(2) “¥lg ITH ST BI¥ HbdAd B & IR H g2 df 9
B4 Aled ALAGE! AR ST g 99 & AR SR 17

(3) “anmuet AR gEe # A Tl | S dude ¥ g

SEAl.. WY, AT IW W | o8 a9 & e |7
(3m) frafaiaa # ¥ =l S raaen & FEed SR sitg - [06]

(1) “=me g5 = a"
aE Y AHTT &T
P W BY HAaF-9 F g WRem TE 17

(2) “zHt gHAT &
g S AT
Rqurer ot = 2
ST B HHE AT
= & @ o

(3) “gudt H YUR
AT WART F TR gY R,
TES HE! BETE THRE,
TE BY Y B BA-A URE W
FIAT-HEAT T TH,
SN uF TE |7

9.3) feomt @R

(31 FTHET BN IHAU [04]
37T
(37) HHAR H AT [04]
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(37M) ‘ez & 9% & BA HigdT | Hq BT SM/TEE | [04]
ST

(3 ‘At B AT Hiaar H oA | [04]

(3) F=faRaa # & 6=t 88 99l & T%-TF a9 # S farad © [06]

(1) 9o & I &7 T 9 Ugd TSE P9 U TRAT T 9

(2) IRSHAT A BIA OF ¢

(3) WITNA &l 3fTcAT el fodt of ¢

(4) TP B JATAR M AR 7 B Y31 g F 9

(5) ¥S IAEES FH AT FH TG F IR T B R 9
(6) HT B IR YH-JIA HT Aad fhadt fo=t #1 2 9
(7) T aR W HIA ME A& AAEI g 9

(8) Ud & AR IFD W7 B {bet o ©

(9) ‘feRmr wigar # S I=T=E FwE A FAwar ¢

(10) ‘ST &1 AT FHAdAT S BT BT AW (AT |

9.4) 31 TEaraa & 9 6l ™ 13 F7 gy R Sine [06]

(1) WA/ FUAT Ueid, ¢R%, AR Vg, UeX & &t
FRAT U5 B [ g, Wl qaeEe Qe g,

FIET & A &SI foaerar / et g |

(2) TIRMYS, FAEEHR FA T, R I, TSHh ao,
qU ¥ STERUH, BAY q9eeed . |, @ & et
T THA TAT AT B IBATS B gT 9T fawmr

o [aNEaN [a¥aN

(3M) FETaRAd [au ST adiesd B AT AR S 0 [06]
(1) I # ME A3 Teihd &1 fagm |
(2) HeElqae™ § U~ ‘dI¥e Fiel Hal@d &7 aidiead |
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(3) THfaad # & FFl 82 It & J& & @Sy [06]
(1) T TN W § TET THT 37T |

(2) | H IR I A |

(3) 39 =9 ¥g I v |

(4) WY 7 IFAT B YA FTYT B AlE I
(5) TR ® UL Yo [T T U |

(6) R HI FWI & ITHT TOT JW T |
(7) 3IFSH AT WX 3 |

(8) HH wWia HT ¢ AT |

7.5) (31 THfaiad ® ¥ Ret @ siust gt @ &St oy oss
T [07]
(1) Advice
(2) Import
(3) Sample
(4)  Minutes
(5) Expenditure

(6) Bearer
(7) Demand

(8) Under
(9) Invoice
(10) Permit
(3m frfaiaa § o et o U &7 sedAr-fae s - [07]
(1) T ¥ for g5 w@r |
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F. Y. B. Com. Examination - 2010

GUJARATI
(New 2008 Pattern)

Time : 3 Hours] [Max. Marks :
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(Arabic)
(New 2008 Pattern)
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SINDHI
(Devnagri)
(New 2008 Pattern)

Time : 3 Hours] [Max. Marks : 80
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[3769]-126
F. Y. B.Com. Examination - 2010

FRENCH
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) AIll questions are compulsory.
(2) Use of dictionary is not allowed.

Q.1) Ecrivez une lettre sur UN des thémes suivants : [10]

(A) La Société Renault a donné une annonce pour la poste d’une
secretaire qui parle francais, I’anglais et hindi. Ecrivez une lettre
pour cet emploi. Vous donnez tous vos détails.

Oou

(B) Mme. Julie Buisson part en voyage d’affaires a Lille. Elle demande
a sa secrétaire de réserver une chambre pour 5 nuits a partir
du 15 avril, a L’H6tel Céleste. Elle veut une chambre pour une
personne. Ecrivez cette lettre.

Q.2) Ecrivez UN dialogue de 7-8 répliques : [10]

(A) \Vous étes en voyage d’affaires en Suisse. Vous allez a une banque
pour ouvrir un nouveau compte dans cette banque.

ou
(B) C’est votre anniversaire. Vous allez au restaurant avec vos amis

et vous commandez le menu.
Q.3) Traduisez en anglais : [20]

(A) La cuisine est trés importante pour les Frangais et la cuisine
francaise est connue partout dans le monde. Dans toutes les villes
de France, le voyageur peut golter des spécialités.
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Dans les auberges, le propriétaire ou la propriétaire fait la cuisine.
IIs ont appris les recettes de leurs parents ou grands-parents.
IIs les aiment comme ils aiment leur pays, leur région et leur métier.
Dans leur menu, ou dans leur carte, vous trouvez des produits
amoureusement cuisinés pour vous.

A Angers, Eric propriétaire du Saint Gourmand, 35 ans, et sa
femme Carole, 32 ans, ont pour la cuisine la passion que d’autres
ont pour la musique. Il n’a pas de spécialités. Tous ses plats
sont des spécialités. Le midi, le repas d’affaires a 150€ vous
est servi en trois quarts d’heure.

(B) Bernard : Bonjour. Je voudrais changer mille euros en
dollars.
L’employe : Vous voulez des espéces ou des cheques de
voyage ?
Bernard :Je veux des especes. Je veux aussi commander

des cheques de voyages, en euros. C’est pour
mon voyage en Espagne aussi.

L’employé : \ous avez une piece d’identité, s’il vous plait ?

Bernard . Oui, voila mon passeport. Vous pouvez préparer
deux mille euros en travellers ?

L’employé : Oui, bien sir. Pour lundi matin, ¢a va ? Passez
a la caisse pour les especes.

Bernard : Oui. Merci, monsieur.

Q.4) Compréhension : Lisez le texte suivant et répondez aux questions qui
suivent :

Claire et Paul sont dans le train pour Angers. lls font la connaissance
d’un passager.

Claire Excusez-moi, vous étes italien ?
Le passager Oui, je viens de Bergame en ltalie.

Claire C’est votre premiére visite en France ?

[3769]-126 2 Contd.



Le passager Oui, c’est ma premiére visite.

Claire C’est un voyage d’affaires ?

Le passager Oui, je suis chef de publicité chez Progetti, a Milan. Et

vous ? \ous étes en vacances ?

Claire Non. Nous sommes de Strasbourg. Je suis chef du personnel
chez ITEX. Mon colléegue, Paul Schmidt est ingénieur
commercial. Nous allons a Angers. Notre société aune nouvelle
usine la-bas. Vous avez appris le francais en Italie ? Vous parlez

trés bien.

Le passager Merci. Oui, j’ai appris le francais au college et je suis
des cours de francais depuis six mois chez Progetti.

(A) Dites vrai ou faux :
(1) Claire vient de Paris.
(2) C’est la premiere visite du passager.
(3) Claire est ingénieur commercial.
(B) Répondez aux questions suivantes :
(1) Quelle est la nationalité du passager.
(2) Claire et Paul, comment voyagent-ils ?
(3) Le passager, ou a-t-il appris le francais ?
(C) Donnez le contraire :
(1) premiere
(2) viens
(D) Donnez I’infinitif :
(1) font

(2) étes
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Q.5) Grammaire et vocabulaire :

(A)

(B)

(©)

(D)

(E)

[3769]-126

Mettez au pluriel : [04]
(1) Je viens a Paris au mois de septembre.
(2) Le bel appartement a une grande chambre.

Mettez les verbes entre parenthéses aux temps ou aux modes
indiqués : [03]

(1) Est-ce que vous (pouvoir = présent) réserver une chambre.
(2) s (prendre = passé composé) un taxi pour aller a 1I’hotel.

(3) (Attendre = impératif) le directeur devant notre bureau.

Complétez avec les prépositions : [02]
(1) Hs partent e Canada.

(2) Crest la part de qui ?

Mettez au négatif : [06]

(1) J’ai de la monnaie.

(2) 1l y a une belle maison dans le quartier.

(3) Je travaille dans une banque.

Trouvez I’objet direct : [05]
(1) Jaime ce cocktail de crevettes.

(2) Claire veut reserver les chambres.

(3) Acceptez la carte de crédit.

(4) Tu retires ton argent de ton compte.

(5) Prenez-vous le diner a 8 heures ?
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(F)

(G)

[3769]-126

Dites vrai ou faux : [05]

(1) Le directeur général dirige I’ensemble des activitiés de
I’entreprise.
(2) L’assomption est le 15 avril.
(3) Un billet d’argent est une piece d’identité.
(4) On va a la charcuterie pour acheter du lait.
(5) La carte Pass est une carte de paiement.
Choisissez la bonne réponse : [05]
(1) Un habitant de I’Angleterre est
(i)  Angers
(i)  Anglais
(i) Allamend
(2) Dans un supermarché on achéte un paquet de riz dans la
(i)  Poissonnerie
(i)  Section ménage
(i)  Epicerie
(3) Pour retirer de I’argent on va

() a la gare
(i) au distributeur automatique

(i) au bureau de change
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(4) Quand on cherche un logement on va
(i) au bureau de change
(i) dans une agence de voyage
(iii) dans une agence immobiliere
(5) La féte du travail est le
(i) 1 novembre
(i)  1* janvier

(i) 17 mai
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[3769]-127
F. Y. B. Com. Examination - 2010

GERMAN
(Old 2004 and New 2008 Pattern)

Time : 3 Hours] [Max. Marks : 80
Q.1) Beantworten Sie ZEHN der folgenden Fragen ! [20]
(1) Warum lernen Sie Deutsch ?
(2) Was mochten Sie werden ? Warum ?
(3) Schreiben Sie zwei Tipps flr eine ruhige Nacht !
(4) Sie Wollen lhre neue Wohnung einrichten. Was kaufen Sie
dann ?
(5) Ihr Bruder reist gern. Was schenken Sie ihm zum Geburtstag ?
(6) Was machen Sie sonntags ?
(7) In welchen Landern spricht man Deutsch ?
(8) Was kann man in Berlin besichtigen ?
(9) Wie heift Ihr bester Freund/lhre beste Freundin ? Wo wohnt
er/sie ?
(10) Nenne vier Stadte in Deutschland !
(11) Nenne vier beriihmte Personen aus Deutschland !
(12) Wie heiBen die Hauptstadte von Osterreich und der Schweiz ?

[3769]-127

1 P.T.O.



Q.2) Lesen Sie den folgenden Brief und beantworten Sie die Fragen !
Liebe Ursula,

am Wochenende war ich in Frankfurt, und es hat mir gut gefallen.
Frankfurt ist doch eine interessante Stadt. Meine englische Freundin
Margret hat mich eingeladen. Du hast sie letztes Jahr hier in Koln
kennengelernt. Am Samstag hat sie mich am Bahnhof abgeholt. Dann
haben wir bei ihr zu Hause Tee getrunken. Margret ist eine typische
Engléanderin. Sie trinkt jeden Nachmittag um 17 Uhr ihre Tasse Tee !
Sie spricht schon gut Deutsch. Sie besucht ja auch zweimal in der
Woche einen Deutschkurs. Am Samstagabend waren wir mit drei
anderen Kursteilnehmern, Ali, Marie und Indira im Restaurant. Das
war ein schoéner Abend !

Ali ist ein turkischer Arbeiter. Seine Frau und seine Kinder wohnen
noch in Istanbul. Er will sie im Sommer besuchen. Vielleicht kommt
seine Familie nachstes Jahr auch nach Frankfurt. Im Restaurant habe
ich zum erstenmal mit Ali tirkisch gegessen, und es hat mir gut
geschmeckt. Die Bedienung war auch super. Am Sonntag waren
Margret und ich im Museum. Du weift, ich kenne die Museen in Kaln.
In Frankfurt gibt es ein beriihmtes Bild von Max Beckmann, und das
wollte ich unbedingt sehen. Am Nachmittag hat Margret mich zum
Bahnhof gebracht. Also, das Wochenende war wirklich toll !

Mdchtest du auch mit mir einen Ausflug nach Frankfurt machen ?
Margret hat gesagt, ich soll dich gripen.

Liebe Gripe
Elisabeth.
(A) Fragen : [08]
(1) Wie findet Elisabeth Frankfurt ?
(2) Wann und wo hat Ursula Margaret kennengelernt ?
(3) Wohin fahrt Ali im Sommer ? Warum ?
(4) Warum wollte Elisabeth ins Museum gehen ?

(B) Sind die folgenden Aussagen richtig oder falsch ? [02]
(1) Elisabeth kommt aus Frankfurt.
(2) Margret spricht Deutsch gut.
(3) Ali kommt aus der Turkei.
(4) Ursula wohnt in Kaln.
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Q.3) (A)

(B)

Ubersetzen Sie folgenden Text ins Englische oder Marathi !

Beide Eltern sind berufstatig. Wer passt dann auf die Kinder auf ?
Das ist eine wichtige Frage in Deutschland. Die Miitter wollen
auch arbeiten, weil dann sie sich mehr leisten kénnen. Aber dann
haben sie ein problem. Wo bleiben die Kinder den ganzen Tag ?
Sie haben LOsungen (solutions) dazu gefunden. In einigen
Familien passen die Omas auf die Kinder auf. Sie wohnen im
gleichen Haus oder in der gleichen Stadt. Sie verstehen etwas
mehr von der Kindererziehung (upbringing of the children) und
wichtig ist, dass die Kinder bekommen, Liebe. Also die beste
Losung ist, Omas. Aber was machen die Eltern fir die Omas ?
Sie schenken ihnen kleine Sachen. Manchmal fahren sie mit
ihnen am Wochenende weg.

In vielen Familien gibt es aber keine Grofeltern. Kindermédchen
(baby sitter) passt auf solche Kinder auf. Das Kind bleibt zu
Hause. Die Eltern bezahlen gut. Deshallb passt sie auf solche
Kinder auf. Es gibt auch Kinderkrippe (Créche) und Kindergar-
ten. Aber hier mussen die Eltern ihre Kinder in die Krippe oder
in den Kindergarten bringen und abends wieder abholen.

Ubersetzen Sie ins Deutsche !

(1) Which shelf is cheaper than this ?

(2) My uncle’s car is very old.

(3) Antia, wear this jewellery.

(4) The salesman shows children a mobile phone.
(5) Karl has gone to the office.

Q.4) Grammatik und Wortschatz :

(A)

[3769]-127

Ergdnzen Sie das Perfekt !

werden, gewinnen, verstehen, fotografieren, bekommen
(1) Ich habe einen Brief vom Chef

(2) Meine Tante im Lotto

(3) Sie plotzlich reich

[10]

[10]

[05]
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(B)

(©)

(D)

[3769]-127

(4) Der Deutsche spricht zu schnell. Wir ihn Uberhaupt
nicht

5) du selbst ? Die fotos sind sehr
schon.

Bilden Sie die Fragen ! (nur drei) [03]

(1) Ja, ich bin verheiratet.

(2) Christine kommt aus Munchen.

(3) Der Salat ist frisch.

(4) Die Kinder gehen um 9 Uhr ins Bett.

Ergadnzen Sie die Modalverben ! (nur sechs) [03]

(1) Im Krankenhaus man nicht laut sprechen.

(2) Die Mine ist leer. Ich nicht schreiben.

(3) Was Sie trinken ? Cola oder Limonade ?

(4) Der Arzt sagt : Sie haben Magengeschwiir. Sie
viel spazierengehen.

(5) Wie viele Sprachen du ?

(6) Sonntags viele Leute spat aufstehen.

(7) Die Lehrerin sagt : Kinder, ihr Artikel und
Pluralformen lernen !

Ergédnzen Sie die Endungen ! (nur sechs) [06]

1) D Auslénder mochte unsere alt Universitat
sehen.

2) D gropt Kirche in Deutschland ist Kdlner
Dom.

(3) Mein Freundin tragt gerne Kurz Kleider.

(4) Der Verkaufer zeigt d Kunden viele modern
Gerate.

(5) Monika hat rund Gesicht von ihrer schon
Mutter.
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(6) Viele Jugendlich wollen selbststandig sein.

(7) Kennst du das neu _ Madchen ? Sie tragt heute braun
T shirt.
(E) Ergénzen Sie die Personalpronomen ! (nur drei) [03]
(1) “Schmeckt  diese Suppe, Hans ?” “Ja sie geféallt
sehr gut.
(2) Mein Onkel ist krank. Ich will ____ heute besuchen.
ist schon sechzig.
(3) “Darf _ herein ? Store ich | Herr Miller ?
(F) Ergénzen Sie die richtigen Verbformen ! (nur vier) [02]
mitkommen, essen, wissen, geben, kosten
(1) Es ___ in Pune viele Kinos.
(2) Meine GroPmutter _ zum Frihstick immer einen
Apfel.
(3) Ich __ nicht, wieviel die Flugkarte nach Delhi
(4) Wir gehen ins Theater. du , Anna ?
(G) Ergénzen Sie die Possessivpronomen ! (nur vier) [02]
(1) Der Lehrer ist alt, aber _ Frau ist jung.
(2) “Petra, wo ist __ Schultasche ?”
(3) Wir sollen _ Erde (earth) schiitzen.
(4) Ihr seid keine Deutschen. Aber _ Aussprache ist gut.
(5) Petra wohnt mit _ mann in Kaln.
(H) Ergénzen Sie die Prépositionen ! (nur vier) [02]
(1)) _ Winter tragt man warme Kleider.
(2) Martin, stell die Cola _ den Kihlschrank.
(3) Sie geht oft _ ihren Freundinnen __ Restaurant.
(4) Wie komme ich __ Post ?
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Q)

Q)

Ergénzen Sie das richtige Wort ! (nur vier) [02]
(1) Delhi ist die __ von Indien.

(2) Pepsi, Cola, Fanta sind .

(3) Apfel, Mango, Banana sind

(4) Unser Schuljahr beginnt im

(5) In einer __ kann man sein Auto waschen lassen.
Welches Wort passt nicht ? (nur vier) [02]
(1) Tisch, Stuhl, Telefon, Schrank.

(2) Deutsch, Englisch, Typisch, Turkisch

(3) Kochbuch, Reisefiihrer, Worterbuch, Reiseleiter

(4) Fahren, arbeiten, machen, stellen

(5) Ohren, Augen, Herz, Nase
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At present women have been playing major roles in
politics, economy, household, nationalism and nation
building. As for Indian women they are gradually
advancing in the fields of the politics, administration,
sports, cinema, performing art, medicine and science.
Girls perform better than boys in the board and
competitives exam. Indian women have proved their
abilities on the International Level.
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[3769]-129
F. Y. B.Com. Examination - 2010

COMPUTER APPLICATIONS
(Theory)
(Vocational Course-1)
(New 2008 Pattern)
Time : 2 Hours] [Max. Marks : 40

Instructions :
(1) Figures to the right indicate full marks.
(2) Draw neat and labelled diagram wherever necessary.

Q.1) Define the following : (Any Five) [05]
(@  Octal
(b) EBCDIC
(c) EPROM
(d) MS-Excel
e) OMR
()  Video Data
(9 UPS
Q.2) Solve the following : (Any Four) [08]

(@ 1101 + 1111 + 100
(b) (98),, = (),
(©) (752), = (),
() 11011 - 10111
(e) 1001 * 101
() 1100 / 10
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Q.3) Write short notes : (Any Five) [15]

(@ Scanning Devices
(b) Pen Drive
(c) Magnetic Tapes
(d) Search Engine
(e) File Menu of MS-Word
()  Numbering Systems
(90 Menu Bar
Q.4) Answer the following : (Any Three) [12]
(@ Write a short note on various Input Devices.
(b) What are various Secondary Storage Devices ?
(c) Explain the following functions used in MS-Excel :
()  SUM()
(i)  AVG()
(d) Explain briefly the following terms :
(i) Cut, Copy and Paste
(i) Page Setup
(e) Describe various advantages of WINDOWS Operating System.
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F. Y. B. Com. Examination - 2010
ADVERTISING, SALES PROMOTION AND SALES MANAGEMENT
PAPER - |
MARKETING COMMUNICATION
(Vocational Course - 1)
(New 2008 Pattern)
Time : 2 Hours] [Max. Marks : 40
Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Define the term ‘Marketing’ and explain role of Marketing Department

in a Business Organisation. [12]
OR
Q.1) Define the term Communication. Explain various types of
Communications. [12]
Q.2) What do you mean by Sales Promotion ? Explain various types
of Communications for Sales Promotion. [12]
OR
Q.2) What do you mean by Public Relations ? Explain need and
importance of Public Relations. [12]
Q.3) Write short notes : (Any Four) [16]

(@ Event Management

(b) Tools of Public Relations
(c) Principles of Communication
(d) Feed Back

(&) Means of Communication
()  Types of Events
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F. Y. B. Com. Examination - 2010
TAX PROCEDURE AND PRACTICES
PAPER - |
INDIAN TAX SYSTEM
(New 2008 Pattern)
Time : 2 Hours] [Max. Marks : 40
Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer in 20 words each : (Any Seven) [14]
(1) Define ‘Canon of Co-ordination’.
(2) Which tax does not pinch the tax-payer more ? How ?
(3) State any four advantages of Direct Taxes.
(4) Define “Person’.
(5) What do you understand by “‘Concurrent List’ ?
(6) Which are the four Acts under Hindu Law ?
(7) What are the sources of Hindu Law ?
(8) Define ‘Partner’ and ‘Partnership’.
(9) Define ‘Constructive Res. Judicata’.
(10) What is ‘Summons’ ?
Q.2) Answer in 50 words each : (Any Two) [08]
(a) State various characteristics of Taxation in India.
(b) Distinguish between ‘Direct’ and ‘Indirect’ Taxes.
(c) Write note on ‘Joint Family’ under Mitakshara School.
(d) State various essentials of the Principle of ‘Res. Judicata’.
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Q.3) Answer is 150 words each : (Any Three) [09]

(@) Explain in brief the Objectives, Scope, Importance of Taxation
in India.

(b)  Write note on Article 280 of the Constitution of India i.e. Finance
Commission.

(c) “Hindu is born and not made.” Discuss.

(d) State various Schools of Hindu Law and discuss in brief.

(e) Write note on ‘Issue of Summons’.

Q.4) Answer in 500 words : (Any One) [09]
(a) Describe in detail the Taxes of State Government.
(b) State various Taxes of Central Government and describe in brief

the advantages of Indirect Taxes.
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[3769]-132

F. Y. B. Com. Examination - 2010
COMPUTER APPLICATIONS
(Theory)
(Vocational Course-II)
(New 2008 Pattern)
Time : 2 Hours] [Max. Marks : 40
Instructions :
(1) Figures to the right indicate full marks.
(2) Draw neat and labelled diagram wherever necessary.

Q.1) Write syntax and give examples of the following functions :

(Any Five) [05]
(@  Strdup()
(b) Abs()

(c) Strrev()
(d)  Strlen()
(e Gets()

()  Getch()

(@) Stremp()

Q.2) What will be the output of the following modules : (Any Four) [08]

@ main()
{
int flag = 5, msg = 1;
if(flag < = 8);
(msg > 1 ? printf(*\nHello™) ? printf(*\nHi"));
else

printf(*\nHello Hi 1”);

}
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(b)

(©)

[3769]-132

main( )

{
char ¢ = 65;

while (c < = 70)

{

printf(“%d %c”, c, cj);

C++;

}

main( )

{
int i = 45;
float c;
¢ = check(i);

printf(“c = %f”, c);

}
check(int 1)

{
if(i > = 50)
return(3.14);
else
return(3.10);

Contd.



(d)  main()

{
int a = 10, b = 20;
void change(int *, int*);
change(&a, &b);
printf(“%d %d”, a, b);

}

void change(int*p, int*q)

{

by
(e) main()
{
int i, j;
for i =1, i < =5; i++)
{
printf(*\n”);
j =i+ 1
printf(“%d %d”, i, j);
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(f)

main( )

{
int i, t1, t2, t, n = 5;
clrscr();
t1 = 1;
t2 = 1;
printf(*%d %d”, t1, t2);
for (I = 3; 1 < = n; i++)

{
t =1tl + t2
printf(“%d”, t);
tl1 = t2;
t2 =t
¥
¥
Q.3) Write short notes : (Any Five) [15]
(@ Explain # define statement
(b) Arrays in ‘C’
(c) For loop
(d) if ... else statements
(e) \ariables in ‘C’
(H  Flow Chart
(g) History of ‘C’
Q.4) Answer the following : (Any Three) [12]
(@ Explain data types in ‘C’.

(b)

(€)
(d)

©)

If a 3 digit number is input through keyboard, write a ‘C” program
to add the digits.

Explain functions in ‘C’.

Write a ‘C’ program which stores roll no. and marks of 25
students and displays it using structures.

Write a note on Switch Case in ‘C’ Language.
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[3769]-134
F. Y. B. Com. Examination - 2010
TAX PROCEDURES AND PRACTICES
PAPER - 11
STATE SALES TAX AND CENTRAL SALES TAX
(Vocational Course - 11)
(New 2008 Pattern)

Time : 2 Hours] [Max. Marks : 40

Instructions :

(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer in 20 words each : (Any Seven) [14]

(1) What is meant by ‘Tax Free Goods’ ?

(2) What is meant by Sales inside the State ?

(3) What are the types of registrations under M. VAT Act ?

(4) Application for Registration under CST is to be made in which
form ?

(5) What is called as ‘Business’ under M. VAT ?

(6) What is meant by ‘VAT ? Is it new tax ?

(7) What are the rates of taxes provided in Schedule ‘C’ and
Schedule ‘E’ of M. VAT Act ?

(8) What is meant by ‘Appropriate State’ ?

(9) Who is required to file returns under CST ?

(10) What is meant by ‘Set-off’ under M. VAT ?
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Q.2) Answer in 50 words each : (Any Two) [08]

(1) What are the advantages of VAT ?

(2) Who is called ‘Dealer’ under M. VAT ? What is meant by
‘Deemed Dealer’ ?

(3) What is meant by (a) Sales of Movement of Goods (b) Sales
by Transfer of Documents of Title ?

(4) Discuss various forms for Concessional Rate of Tax under
Central Sales Tax Act.

Q.3) Answer in details in 150 words each : (Any Three) [09]

(1) What are the types of registrations under CST Act ? Who
and how can get Registration ?

(2) What is meant by ‘Assessment’ ? Discuss types of assessments
under M. VAT Act.

(3) Explain Incidence of Tax u/s 3 of M. VAT Act.

(4) What are the provisions for effecting changes and amendments
in Certificate of Registration under CST Act ?

(5) Discuss constitutional back-ground for enactment of Central Sales
Tax Act, 1959.

Q.4) Write long answer in 500 words : (Any One) [09]

(1) What are the provisions for determining Turnover of Sales and
Levy of Taxes under CST ?

(2) What is meant by ‘Return’ ? Discuss types of returns and

Liability of Registered Dealer to file Returns under M. VAT
Act.
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F. Y. B. Com. Examination - 2010
FOUNDATION COURSE
(Restructuring Courses of F.Y.B.Com. Only)
(Old 2004 and New 2008 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions :

(1) AIll questions are compulsory.

(2) Figures to the right indicate full marks.

Q.1) Answer the following in 20 words each : (Any Ten) [20]
(1) What is ‘Poverty’ ?
(2) What is “Culture’ ?
(3) What is “National Integration’ ?
(4) What is ‘Religion” ?
(5) What is ‘Productivity’ ?
(6) What is “Pure Science’ ?
(7) What is “‘Society’ ?
(8) What is the meaning of ‘Government’ ?
(9) Define the Concept of “Nation’.
(10) What is “‘Caste’ ?
(11) What is “Superstition” ?
(12) What is “Pollution” ?

(13) What is the meaning of ‘Privatisation” ?
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Q.2) Answer the following in 50 words each : (Any Two) [10]

(1) Write a note on ‘Self Employment’.
(2) Indicators of Poverty
(3) Rule of Law
(4) Write a note on ‘Modernisation’.
Q.3) Answer the following in 150 words each : (Any Two) [20]
(1) What is the importance of Religion in Indian Society ?
(2) State and explain various steps involved in Scientific Method.
(3) What are the causes of Sickness of Indian Industries ?
(4) Explain Characteristics of Indian Society.
Q.4) Answer the following in 300 words each : (Any Two) [30]
(1) What are the various obstacles in achieving the Goal of National
Integration in India ? Suggest measures to remove obstacles.
(2) What are the causes of Poverty in India ? Suggest measures to
eradicate poverty.
(3) State and explain merits and demerits of Indian Democracy.
(4) State and explain Effects of Science and Technology on Agri-

culture, Health and Rural Development.
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[3769]-501
F. Y. B. Com. Examination - 2010

FUNCTIONAL ENGLISH
(COMPULSORY ENGLISH)
(Old 2004 Pattern)
Text Prescribed : English for Practical Purposes
Edited by : Z. N. Patil
B. S. Valke
Ashok Thorat

Zeenat Merchant

Time : 3 Hours] [Max. Marks : 80

Q.1) Read the following passage carefully and answer the questions given
below :

At the end of the economic line was Bulgaria, with a people almost as
untamed as the hills and mountains they inhabit. Here surprisingly one
came across more interest in India than one had encountered in Romania
or Hungary, though we did spend a morning in Bucharest discussing
Gandhi, Yoga and Hindu Philosophy with a group of young Romanian
intellectuals.

In an old monastery tucked away in the hills some kilometers from Sofia,
we came across a group of peasants attending a Sunday morning service
in the chapel attached to the monastery. An unpleasant-looking priest moved
among them avidly sharing their bottles of wine and their bread. The
peasants were particularly intrigued to know where | came from, and when
finally we got them to understand it was India, a smiling old peasant sidled
up to me.

‘Ah,” he exclaimed, scratching his head, ‘Gandhi.” | agreed, relieved he
had made the final identification, but he wasn’t alluding to the mahatma,
for after some further scratching of his head he mumbled, ‘Irina Gandhi.’
He meant Indira Gandhi. He had seen her on television.
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| think it was also in Bulgaria - it might have been in Romania - that
| was asked again by an inquisitive passer-by where I came from. | told
him. ‘Raj Kapoor !’ he exclaimed, and went on to hum one of the songs
of that well-known Indian film star - Indian film songs and music are very
popular in communist Europe, including Soviet Russia. This time | had
rung a different bell.

Questions :
(1) What is the passage about ? [02]
(2) How does the writer describe people of Bulgaria ? [02]
(3) What did the writer discuss in Bucharest ? With Whom ?  [02]
(4) Where did the writer come across a group of peasants ? [02]
(5) Who was the peasant referring to when he mentioned
‘Gandhi’ ? [02]
(6) In which part of the world are Indian film-songs and music very
popular ? [02]
(7) Use the following words in your own sentences : [02]
(@) unpleasant
(b) inquisitive
(8) Make verbs from the following : [01]
(a)  different
(b) identification
Q.2) (A) Give short responses to the following : (Any Six) [12]

[3769]-501

(1) What expression will you use while leaving a conversation ?
(2) How will you introduce yourself at an interview ?
(3) How will you ask for the way to the post-office ?

(4) “English is a very difficult language.” Express your partial
agreement with this statement.

(5) “Oh, you are so fluent in English !” Respond to this
compliment.
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(B)

Q.3) (A)

(B)

Q.4) (A)

(A)

(B)

(©)

(©)

(6) “May | use your computer ?” Deny permission politely.

(7) How will you apologize to your teacher for a week’s
absence at his lectures ?

(8) “Would you care to have lunch with us ?” Decline this
invitation politely.

Your friend meets you in Mumbai after a long time. You are
delighted to see him. So is he. Write a dialogue based on this
situation. [08]

Write an application letter with curriculum vitae for the post
of a lecturer in commerce to the Principal, Wilson College of
Commerce, Mumbai. [10]

Write a letter to a transport company complaining that your
furniture has been damaged in the transport. [10]

Draft an agenda of the annual general meeting of a Co-operative
Credit Society. [10]

OR

Imagine yourself to be the Secretary of ‘Sadhana’, a cultural
activities organisation in your town. Draft minutes of its first
meeting. [10]

Write a telegraphic message to your friend congratulating him
for his success in the IIT Entrance Exam. [05]

Write a newspaper report to the editor of a newspaper based
on your visit to an area affected by earthquake. [10]

OR

Imagine that you are a consultant to Dream Travels and Tours
Ltd. Write an investigative report on the prospects of tourism
and the desirability of starting an office of the said company
in your city. [10]
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[3769]-502

F. Y. B. Com. Examination - 2010
FINANCIAL ACCOUNTING
(Old 2004 Pattern)
Time : 3 Hours] [Max. Marks : 80
Instructions :
(1) All questions are compulsory.

(2) Figures to the right indicate full marks.
(3) Use of calculator is allowed.

Q.1) Objective type questions :
(@ True or False : (Any Five) [05]

(i)  Accounting is an art of recording and classifying business
transactions.

(i) The Co-operative Society functions under the Principle of
‘one for all and all for one’.

(i)  Annuity Method of Depreciation considers funds for
replacement of assets at the end of working life of
respective assets.

(iv) Coal Mining Royalties are based on Goodwill.
(v) Receipts and Payment Account is a Real Account.

(vi) Maximum Loss Method is also known as Notional Loss
Method.

(vii) In Hire Purchase Transaction, Ownership of Goods is
transferred to the buyer when first instalment is paid.
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(b)

[3769]-502

Fill in the blanks from the brackets : (Any Five)

(i)

(i)

(iii)

(iv)

v)

(Vi)

(vii)

(viii)

Accounting Standard No. 6 deals with

[Valuation of Inventories, Valuation of Goodwill, Depreciation
Accounting]

Surplus Capital Method is also known as
Method.

[Maximum Loss, Proportionate Capital, Minimum Capital]

Conversion of Partnership into a Limited Company is
referred to as sale of partnership business to

[Sole Trader, Company, Partnership Firm]

Maharashtra State Co-operative Societies are registered
under Act.

[1970, 1925, 1960]

Under Non-trading Concern, Income and Expenditure
Accounts, if Income Side is more than Expenditure Side
Is known as

[Surplus, Deficit, Abnormal Loss]

The amount paid by lessee to lessor is known as

[Royalty, Shortworking, Landlord]

In Account Current name is written last in

the title.
[Sender’s, Receiver’s, Agent’s]

In Hire Purchase System, instalment amount includes
portion of Cash Price and

(Purchase Price, Invoice Price, Interest)

[05]
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Q.2) Ajay, Vijay and Sanjay were in partnership sharing profits and losses
in the ratio of 2 : 1 : 1. They decided to dissolve business on 31st
December, 2008, on which date their Balance Sheet was as follows :

Balance Sheet

Liabilities Rs. Assets Rs.

Capitals Ajay 1,00,000 | Cash 5,000

Vijay 55,000 | Debtors 90,000

Sanjay 25,000 | Stock 85,000

General Reserve 20,000 | Plant and Machinery| 65,000

Income Tax 5,000 | Land and Buildings | 1,55,000
Creditors 1,17,000
Bills Payable 78,000

4,00,000 4,00,000

The assets were realized as follows :

1-1-2009 Rs. 15,000
10-1-2009 Rs. 82,000
15-1-2009 Rs. 2,11,000
20-1-2009 Rs. 58,000

It was agreed that cash should be distributed as and when realized.

Dissolution expenses were originally provided for an estimated amount
of Rs. 5,000. The actual expenses amounted to Rs. 3,000 spent on
20-1-20009.

Prepare :

(@ The statement showing Surplus Capital

(b) The statement showing Distribution of Cash [20]
OR
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M/s. C and D as on 31-3-2009 :

Balance Sheet

as on 31st March, 2009

Q.2) The following were the Balance Sheets of M/s. A and B and

Liabilities M/s. M/s. Assets M/s. M/s.
A &Bl C&D A&B| C&D
Rs. Rs. Rs. Rs.
Capital Alc. : Land and
Building 40,000 -
A 35,000 — | Plant and
Machinery 60,000 -
B 35,000 — | Furniture - 4,200
C —| 24,000 | Stock 30,000 | 50,000
D —| 22,000 | Debtors 15,000 | 40,000
Reserve Fund 10,000 9,000 | Bills
Receivables - 1,000
Creditors 40,000| 40,000 | Cash 5,000 4,800
Bills Payable 30,000 -
Mrs. C’s Loan - 5,000
1,50,000{1,00,000 1,50,000 |1,00,000

A and B shared profits and losses in the ratio of 3 : 2, whereas
C and D shared profits and losses equally. The two firms decided
to amalgamate their businesses on the following terms :

(1)
(2)
3)

at 5% of both the firms.

(4)

)

Plant and Machinery to be depreciated by 5%.
Land and Buildings to be appreciated by 15%.

Debtors to be taken after providing for reserve and doubtful debts

All liabilities were takeover except Mrs. C’s loan which was taken
by Mr. C.

Goodwill of A and B was agreed at Rs. 15,000 and that of C

and D at Rs. 9,000. It is further agreed that goodwill shall not
be retained in the books of new firm.
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(6)

The total capital of new firm was to be Rs. 1,50,000 and capitals
of A, B, C and D was to be in their new profit sharing ratio,
which was 2 : 2 : 1 : 1 respectively and necessary adjustments
were to be made by cash.

Prepare :
(@ Revaluation A/c.
(b) Partner’s Capital A/c. in the books of old firm
(c) Amalgamated Balance Sheet
(d) Partner’s Capital Alc.
(e) Cash Alc.
()  Goodwill A/c. in the books of new firm [20]
Q.3) (A) Mr. Kale and Mr. Gore were partners sharing profits and losses
equally. They decided to convert their firm into a limited company
on 31st March, 2009, when their position was as follows :
Balance Sheet
as on 31st March, 2009
Liabilities Rs. Assets Rs.
Partner’s Capital Alc. : Land and Building 70,000
Mr. Kale 50,000 Plant and Machinery | 20,000
Mr. Gore 50,000 | 1,00,000| Patents 10,000
Sundry Creditors 54,000( Sundry Debtors 1,00,000
Bank Overdraft 50,000| Stock in Trade 40,000
Term Loan 20,000| Bills Receivables 14,000
Reserve Fund 30,000
2,54,000 [ 2,54,000
[3769]-502 5 P.T.O.



Other Information :

(1) The goodwill of the firm was to be valued on the basis
of twice the average profits calculated on the previous three
years profits which were Rs. 40,000, Rs. 46,000 and
Rs. 52,000 after setting aside Rs. 10,000 to Reserve Fund
each year and charging Rs. 3,000, Rs. 1,800 and Rs. 6,000
respectively in respect of Income Tax.

(2) The Land and Building and Plant and Machinery were taken
over at Rs. 1,50,000 and Rs. 30,000. All other assets were
taken over at book values. All liabilities were taken over
by limited company.

(3) The purchase consideration was paid by the limited
company by issue of 60,000 equity shares of Rs. 10 each,
Rs. 5 paid-up per share and the balance in cash.

You are required to prepare :

(@ Calculation of Purchase Consideration

(b) Realisation Alc.

(c) Partner’s Capital Alc.

(d) Limited Company’s Alc.

(e) Cash Alc. in the books of partnership firm [15]

(B) Max Ltd. leased a Colliery on 1st January, 2006 from Mr. Gopal
at a Minimum Rent of Rs. 40,000 p.a. and Royalty of Rs. 3
per ton with a right to recover short working over the first three
years of the lease.

The output for the first four years of the lease was as follows :

Years Output in Tons

2006 10,000

2007 12,000

2008 14,000

2009 20,000

Give necessary journal entries in the books of Max Ltd. for the
above four years. [15]
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Q.4) The following is the Receipt and Payment Account of the National
High School, Pune for the year ended 31-12-2009 :

Receipts and Payments Account
for the year ended 31-12-2009

Receipts Rs.| Payments Rs.
To Opening Cash 1,000 | By Salaries 8,500
To Admission Fees 1,600 | By Office Expenses 4,000
To Tuition Fees 14,000 | By Printing 3,500
To Donations 3,500 | By Furniture (1-10-2009)| 5,000
To Life Members Fees 1,000 | By Sports Material 2,000
To Term Fees 4,500 | By Rent 600
To Examination Fees 4,500 | By Fixed Deposits @

10% on 1-4-2009 6,000
By Closing Cash 500
30,100 30,100
Adjustments :
(1) Assets of the high school on 1-1-2009 were as follows :
Building Rs. 22,000 Furniture Rs. 10,900
Books Rs. 8,000 Laboratory Rs. 6,000

(2) The tuition fees received includes Rs. 2,000 for the year 2008
but Rs. 1,000 are outstanding for the year 2009.

(3) Furniture and Buildings are to be depreciated @ 10% p.a.
(4) Sports Materials are valued at Rs. 1,500 on 31-12-20009.
(5) Donations and Life Members Fees are to be capitalised.

(6) Rent paid includes Rs. 100 for 2008 but Rs. 300 are payable
in 2000.

Prepare :

(@ Income and Expenditure Account for the year ended 31-12-2009,
and

(b) Balance Sheet as on that date. [20]
OR
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Q.4) (A) On 1st April, 2005 “X’ Ltd. purchased a Machinery of Rs. 50,000

(B)

and decided to depreciate it by annuity method in 4 years by
charging 6% interest per annum. A reference to the annuity table
shows that to depreciate rupee one by annuity method in 4 years
at 6% interest, a sum of Re. 0.288591 is required.

Prepare Machinery Account for four years. Interest is to be
calculated to the nearest rupee.

The following are a series of transactions between A and B for
the three months ending on 31st March, 2009. Prepare an Account
Current to be rendered by A to B with charging interest at 10%

p.a.

Date Transactions Amount
January, 1 Balance due from B 5,000
January, 10 Sold goods to B 10,000
January, 15 Cash received from B 10,000
February, 15 Sold goods to B 10,000
March, 1 Cash received from B 5,000
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[3769]-503
F. Y.B. Com. Examination - 2010

BUSINESS ECONOMICS (MICRO)
(Old 2004 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Draw neat diagrams wherever necessary.

Q.1) Answer the following in 20 words each : (Any Ten) [20]
(1) Define Business Economics.
(2) State the Concept of Demand.
(3) What is Average Revenue ?
(4) Define Price Discrimination.
(5) What is Opportunity Cost ?
(6) State any two limitations of Market Mechanism.
(7) What is Internal Economies ?
(8) State any two types of Monopoly.
(9) What is Marginal Productivity ?
(10) State the Concept of Real Wages.
(11) Define Gross Profit.
(12) What is Innovation ?
(13) State definition of Interest.
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Q.2) Answer the following in 50 words each : (Any Two) [10]
(1) What are the functions of Market Mechanism ?
(2) Explain the Concept of Returns to Scale.
(3) What are the features of Oligopoly ?

(4) Explain the Concept of Backward Bending Supply Curve of
Labour.

Q.3) Answer the following in 150 words each : (Any Two) [20]
(1) State and explain Risk and Uncertainty Theory of Profit.
(2) Explain types of Price Elasticity of Demand.
(3) Distinguish between Micro and Macro Economics.

(4) Critically examine Loanable Funds Theory of Interest.

Q.4) Answer the following in 300 words each : (Any Two) [30]
(1) Critically examine Ricardian Theory of Rent.
(2) Describe Law of Variable Proportion.
(3) Explain Price Determination under Monopolistic Competition.

(4) Explain Internal and External Economies.
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T.2) TONE U9 WA 4o A IAX foTET : (FIUWEET qi) (101
(1) ST T BT IRA ?

(2) SUGTEETAT Yldhal HHhed-T T B,
(3) ISR AR FHOTAr IMRT ©

(4) STFTSN UGN To0TIT YRAST Iehidl Weheadl IT .

7.3) T WA Wl 4o STeFid Iw¥ [T : (HIurddt i) [20]

(1) THRTEETET 9T g IMHREadT gid T 9 TS B

(2) ATOTT FEd daraedd YRR I F.

(3) | MM WA IMIATEA BH T .

(4) SATSEAETAT BT AT giar Sibicqs gaeqor &,

7.4) T FATET Y@®! 3oo eI IWX ToT&l : (HIUMEr i) [30]

(1) T sEowws bEad Sees a0 FJ.
(2) wEdAET gATOTET e fasE w

(3) WAHERGgF WIdA [FAq WREd T H.

(4) i@ SOT AR TEdT T HA
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F.Y.B. Com. Examination - 2010
MATHEMATICS AND STATISTICS
(Old 2004 Pattern)

3 Hours] [Max. Marks : 80

Instructions :

(1) All questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Use of logarithmic table and calculator is allowed.

(4) Both the sections should be written in the same answer-book.

SECTION - 1
Q.1) Attempt any four of the following : [2x4=08]

(a) Find simple interest on Rs. 5,000 at 4% p.a. for 5 years.
(b) A man invested sum of amount in 12% at Rs. 106 and earns

a dividend of Rs. 6,000. Find amount invested by him.
(c) A machine of Rs. 8,000 sold for Rs. 7,400. Find percentage

loss.

1 2

d IfA-= [3 4}, find 4A.
(e) The cost price of a mobile is Rs. 5,000. How much should it

®

[3769]-504

be marked so as to earn 25% profit after allowing 10% trade
discount ?

Shade region defined by the inequality :
2x + 3y < 6

1 P.T.O.



Q.2) Attempt any three of the following : [4x3=12]

2 3 1 111
@ IA=| | (|adB=|; , .|

find :
i) A+B
(i) A'+ B!
1 -1 2
b) IfA=|-1 1 -1},
1 -2 1

find A7, if it exists.

(c) What will be the interest on Rs. 12,000 for 2 years at 10% p.a. ?
How much amount will the borrower repay in all ?

(d) Find EMI, if a loan of 1,00,000 at the rate of 15% p.a. is to
be repaid in equal monthly installments in the span of 10 years.
Interest is charged on the loan outstanding at the beginning of
each year. Yearly Reduction [(1.15) = 4.0462)]

(¢) A company manufactures two products ‘A’ and ‘B’. Both the
products pass through two machines M, and M,. The available
capacity of each machine time required to process each unit of
products ‘A’ and ‘B’ and profit per unit of products ‘A’ and ‘B’
are given below :

Products Processing Time/Unit Profit/Unit
Machine Machine (Rs.)
Ml M2
‘A 3 5 25
‘B’ 4 6 30
Available
Hours/Week 300 320 —

Formulate above problem as Linear Programming Problem so
as to maximize profit.

[3769]-504 2 Contd.



Q.3) Attempt any three of the following : [4x3=12]

(a)

(b)

(c)

(d)

(e)

[3769]-504

The cost price of one calculator is Rs. 550. An agent gets 10%
commission on one calculator and earns total commission of
Rs. 825. Find number of calculators sold by him.

‘A’ sold the car to ‘B’ at 11% profit. ‘B’ sold the car to ‘C’
at 9% profit for Rs. 60,000. Find price at which A has purchased
the car.

Find determinant of the matrix :

3 4 -2
A=|5 0 1
0 2 -3

Solve the following LPP by Graphical Method :
Minimize

z = 5x + 2y

Subject to :

5x +y > 10

Using Matrix Method, solve the following system of equations :
3x + 2y =4

2x -~y =15

3 P.T.O.



SECTION - 11

Q.4) Attempt any four of the following : [2x4=08]

(a)
(b)
(c)

(d)
(e)

Explain Method of Exclusive Classification with example.
Define Correlation with illustration.

Compute Range and Coefficient of Range from the following
data :

990, 1000, 980, 750, 875, 985, 1020, 750, 800, 950
State Properties of Regression Coefficient.

Find Median and Mode for the following data :
280, 140, 280, 180, 340, 250, 260 |

(f) Explain the term Population in Statistics.
Q.5) Attempt any three of the following : [5x3=15]
(a) Explain application of Statistics in —

(b)

(c)

[3769]-504

(1) Economics
(1) Industry
Define Arithmetic Mean, also write its merits.

Compute Standard Deviation for the following data :

Class
Intervals 30-40 40-50 50-60 60-70 70-80

Frequency 3 5 12 20 10

4 Contd.



(d) Draw Histogram for the following frequency distribution :

Marks 0-10 | 1020 | 20-30| 3040 | 40-50| 50-60

No. of

Students 2 6 8 36 25 8
(¢) Answer the following questions for the following frequency

distribution :

Turnover

in 00,000 | 50-100 | 100-150 150-200 | 200-250 | 250-300 | 300-350

No. of
Firms 15 50 100 55 22 08

(1) State type of above classification.

(i1)) How many firms have turnover more than Rs. 2,50,00,000 ?

(ii1) Class Width of the class 200-250.

(iv) Class Mark of Third Class.

(v) How many firms have turnover less than Rs. 2,00,00,000 ?
Q.6) Attempt any three of the following : [5x3=15]

(a) Draw Pie chart to represent the following data of investment
in the Third Five Year Plan :

Sector Percentage Investment
Agriculture 14
Irrigation 16
Industries 29
Transport 17
Social Service 16
Inventories 8
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(b)

(d)

(e)

Compute Mode from the following data :

Classes

0-20

20-40

40-60

60-80

80-100

Frequency

5

12

32

40

Calculate Combined Standard Deviation of two Groups of Items :

Particulars Group 1 Group 11
No. of Observations 40 60
Arithmetic Mean 25 30
Standard Deviation 6 4

Given the following data, obtain Linear Regression Line of
x on y. Also estimate value of x when y = 10

x=7Y=15 o(X) =4, oy) =3, r=08

Compute Mean from the following frequency distribution :

Variable
(x) 1 2 3 4 5
Frequency
® 2 5 10 3 1
Q.7) Attempt any one of the following : [10x1=10]

(a)

[3769]-504

Calculate Karl Pearson’s Correlation Coefficient for the following
bivariate data :

Series (x)

28

45

40

38

35

33

40| 32

36

33

Series (y)

23

34

33

34

30

26

28| 31

36

35

Contd.



(b) (1) Calculate C.V. of the following data :
8, 12, 15, 18, 20

(i) Compute Median for the following frequency distribution :

Marks 0-10 10-20 | 20-30 | 30-40 | 40-50

No. of
Students 10 18 27 13 12
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(31 TUH 4,000 WEATH FULIEY 8 T 4 INARE Y5 AT BIET.
(F) TH AR :R% IUAT . 30§ [hAArT A3HA HE THH
TAgA T, §,000 WATHIT FAMIAL T AW Fhal @HA I[araed
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2 3 1 -1 1
SCA= g FPTB =,
a¥
i) A+ B

(i) A' + B! FrEr.

1 -1 2
SWA=[.1 1 -1},
1 -2 1

a¥t A7! QT

¥ 93,000 IEATAN R GRS TEIY. 0 R RRAt @
BT 4 BRI T I dURTET Uper fRd AW ad amde a
FIET.

TALFLL. 94 T T 2 RT o IWIAS Boiiss et a¥ gt
YA IHOTIT ST ST SR FOaar STaerd 7T
T FTdl W fEd 35w & wen [(1.15)10 = 4.0462]
TH BUAN U T T YHRE S IAET B, S IQEAET
T AFH (M, T M) T @R, I M, T M, I s
T IJATEH I T W qX SO AT ST Tt Aot

IR IERIECTE (R E TET/gTeE
9 M, 91 M, (®.)

£ 3 Yy R

@ g g 30

JUTRIT

aTe/ 3T 300 30 —

T ATRATATT ST ST AT QUIRT YT sheragere wot (L P.P.)
TIN5,
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(37)
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()

(®)

®
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ThT HoRecl [BAA B, 440 ITE. ST THT HedIdcT
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T (R4 WA W TH R Peageiel WHAd d FEI

A X AT 3% AW Howma T B REet, @ A B el
% BT fHesad @ B §o,000 TYTH faeheil. ‘U=t HRAT TR
feua e

R e wretardt wikfre #er

3 4 -2
A=|5 0 1
0 2 -3

T W SuagEd 99T (L.PP) 3MEETSI WERA diedr
z = 5x + 2y @t fFAq FHl FAH WA =,
5x +y > 10

x+ty> 6
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9.4) YeITie! HIUME TR G Fisdr [2x4=08]
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() TR Ao ATTRRT AT ST TEOTE P
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F. Y. B. Com. Examination - 2010
COMPUTER CONCEPTS AND PROGRAMMING
(Old 2004 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions :

(1) AIll questions are compulsory.

(2) Figures to the right indicate full marks.

(3) Both the sections should be written in the same answer-book.

SECTION - 1

Q.1) Attempt any four of the following : [4x2=08]
(@) What is Memory ?
(b) Give names of different types of Printers.
(c) Write Syntax and use of Diskcopy Command.
(d) What is Machine Level Language ?
(e) Write names of Input Devices.

(Hh  What is www ?

Q.2) Attempt any three of the following : [3x4=12]
(@) What is E-mail ? What are its advantages ?
(b) Discuss Use of Computer in Modern Office.
(c) Explain Simplex and Half Duplex Mode of Data Transmission ?
(d) Distinguish between Compiler and Interpreter.

(e) Draw block diagram of Computer. Describe each block in brief.

[3769]-505 1 P.T.O.



Q.3) Write short notes : (Any Three)

(@)
(b)
(©)
(d)
(€)

System Analyst

Search Engine

UPS

Scanner

LAN

SECTION - 1l

Q.4) Attempt any four of the following :

(@)

(b)
(©)
(d)

(€)

()

Write names of different Data Types available in

Language.

What is Assignment Operator ?

Write Syntax of ‘For Loop’.

[3x4=12]

[4x2=08]
‘Cl

State whether the following statements are true or false :

(i)

(if)

using it.

Any variable used in the program must be declared before

An array is collection of different Data Types Element.

Convert the following equations into corresponding ‘C’ Statement :

(1)
(i)
int a
a
what

d
m
>

IS

= 1?2

= 4x? + 5x - 3
7, b =12
b?y=a:y=hb;
the value of y ?

Q.5) Attempt any three of the following :

(a)

(b)
(©)

[3769]-505

[3X5=15]

What is the purpose of ‘printf’ function in ‘C’ Programming ?
Compare ‘printf’ with ‘putchar’.

Write a program to find given number is ‘even’ or ‘odd’.

Write a program to print Fibonacci series.

(Like 0, 1, 1, 2, 3, 5, 8, 13..)

Contd.



(d) What is the “While” statement ? Explain execution of while
statement.

(e) Find output of ‘C’ Expressions Statement :

int b=29, ¢c=13;
float y, a = 4.7, d = 800.4;

(1)  printf(*%d %f %d”, c, d, b);

(i) y=a+b™*5;

(ili) (c > 0) && (b < 15)

(iv) (c % b) * a + 30

v), b*=14

Q.6) Write short notes : (Any Three) [3x5=15]
(a) Logical Operators
(b) One Dimensional Array
(c) Integer Constant
(d) Nested If Else statement
(e) Algorithm

Q.7) Attempt any one of the following : [1x10=10]

(@ Write an Algorithm and draw a flowchart to print all divisors
of given integer *

n’.
(b) Give output of the following ‘C’ Program :

(1) include <stdio.h>

main( )
{
int i, digit;
=1
digit = 3;

[3769]-505 3 P.T.O.



while (i < = 5)
{
printf(*%d, %d \n”, i, digit);
i++;
digit = digit +3;
by

return;

}
(i)  main()
{
inti, s =0;
for (I = 1; 1 <9; i++)
{
s =s+1
printf(“\n %d”, s);
}
printf(“\n %d”, s);
return;
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(%) Diskcopy Command T Syntax 3TOT IUgnT foTar.

() Machine Level {7 #ost & 9

(3) Input Devicewam fafqer gt =id faar

(F) WwWwW TS HE 9

7.2) el HiUel did 9T SiEar [3x4=12]
(3N A WO ST ? oOd [t wEg S ©
(F) TIAOTHMET TR FETIA ST I =TT H
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.

(3) FUHE MV AU ATHAIA HF  foal.
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7.3) UigwE four foer o (FurEmEt  9) [3x4=12]
(31 RfRew o=

@ FF gh
(F) TJALTA.
) W&R
(® o=
faamr -
9.4) YEidud! FHiUEl IR 9T A@iEdT [4x2=08]

(31 ‘C’ wNwe 3@ Data Types .
(F) Assignment Operator ¥UTsi &I 9
(%) for qu=r Syntax ferar.

(8) T I IF B IR T @ o

(i) UEET ST TR AOROITATET T 795 HIGT A,

(ii) Array & TraesT Data Types=am S3bi=ml 9 3R,
(3) AT THIEWT ‘C’ 9N AT HUiae 40 ¢

i) a= r

(i) m=4x> + 5x - 3
(%) inta=7 b=12

a>b?2y=a:y=b;
Wy o FAa fear ¢
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7.5) HUEE dF 9T dqiEar [3x5=15]

9.6)

[3769]-505

(37)

C))

(F)

&)
®

‘C’ wmEHEA printf( ) ®™ ™ 3/@d ¢ printf 3mivT putchar
i BIh T T

e @ T e S MR B oAl WiuTH
foTar.

Fibonacci Series fetéroamn wom fotar.
(IO o, 9, 39, R, 3, 4, ¢, 23...)

while statement %ot FI ¢ IS HE AT FHA
el “C’ W= output Terar -
STh =9 ¢ =13
float y, a = 4.7, d = 800.4;
(1)  printf(“%d %f %d”, c, d, b);
(i) y=a+b=*5;
(iii) (c > 0) && (b < 15)
(iv) (c % b) * a + 30
(v) b*=14

gz feur fogr o (FurErdt i) [3x5=15]

(37)
()
(F)
®)
®

Logical Operators
One Dimensional Array
Integer Constant
Nested If Else statement

Algorithm
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9.7) Tl FIOETEN TF 999 Fi=dr . [1x10=10]

(31) Tacioar Aufite g asgs wevarar Algorithm T wne S,

(F) @A ‘C’ Program™ output feTer -

(1) include <stdio.h>

main()
{
int i, digit;
=1
digit = 3;
while (i < = 5)
{
printf(“%d, %d \n”, i, digit);
I++;
digit = digit +3;
}
return;
}
(i) main()
{
int i, s = 6;
for (i = 1; i < 9; i++)
{
S =5+ i

printf(“\n %d”, s);
}

printf(“\n %d”, s);

return;
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[3769]-507
F.Y.B. Com. Examination - 2010

CO-OPERATION
(Old 2004 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) Attempt all questions.
(2) Figures to the right indicate full marks.
(3) Answers should be precise and to the points.

Q.1) Answer the following in 20 words each : (Any Ten) [20]
(1) State two economic benefits of Co-operative Movement.
(2) What is Open Membership ?
(3) State two recommendations of Gadgil Committee.
(4) Give two advantages of Partnership Firm.
(5) State two advantages of Co-operative Marketing.
(6) Define Public Company.
(7) What do you mean by Strength of Co-operative Movement ?
(8) What is Co-operative Training ?
(9) State two qualities of Leadership in Co-operation.
(10) Give two names of Weaker Sections Co-operatives of your area.
(11) State two weaknesses of Co-operative Movement in India.
(12) What do you mean by State Partnership ?

(13) State two benefits of Consumer Co-operatives.
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Q.2) Answer the following in 50 words each : (Any Two) [10]

(1) Explain Nature of Co-operation.

(2) Give a brief Review of Origin of Co-operative Movement in
India.

(3) Explain Role of Co-operative Sugar Factories in Rural
Development in India.

(4) Explain importance of Leadership in Co-operative Movement.

Q.3) Answer the following in 150 words each : (Any Two) [20]

(1) Distinguish between Co-operative Firm and Joint Stock Company.

(2) Explain Role of Central Government in Co-operative
Movement.

(3) Examine Progress of Urban Co-operative Banks in India.

(4) Explain Objectives of Co-operative Education and Training.

Q.4) Answer the following in 300 words each : (Any Two) [30]

(1) Explain in detail main Principles of Co-operation.

(2) Explain Contribution of Co-operative Movement in Indian
Economy.

(3) Evaluate Weaknesses and Achievements of Co-operative Move-
ment in Indian Economy and suggest measures to eliminate its
weaknesses.

(4) Explain Mechanism of Co-operative Education and Training in

India.
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(3) TEItes WA S RIERRMT |,
(4) WTIETY d=" IH wES W
(5) Hehp TUUHER IH WIS 9.
(6) WTISIH FUAET TRAT .
(7) U Toacsdl TEA AET TR B rdEy gar ¢
(8) wWEBN Ruerr wWUN W ¢
(9) UEHFRWHA Aqard FF T[0T HE.
(10) TN URAACAIA SO@ OUohil UEHRI HXRATE! g\ A |
(11) Y RATNE FEHRI TAdes=qT I IuTar .
(12) TRE! AEMENT Iral Q™ & ety gdr ©
(13) 9T TEHI T IE AT FATL
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9.2) TAA JTET Gl so I=&id IO (&l : (Frurdat ) [10]

(1) TEPRHE WHT T B,

(2) YRAIA HehNl TAdes=aT IS ATSHd  JATSET =i,

(3) WA IO [T HEHhN AGR HRATATET GBI T
hA.

(4) VEH THAHHYUE AJATd HEd WS P

7.3) Tl WA Jd! 4o eid I (@&l : (FIUdEl qie) [20]

(1) WEPR TR IAOT g HigTe! TRIT AT BH T B
(2) WEPR THAHHUIA B WIHNA! HHBT T B

(3) WRATHA AN HEHN BT WA THeTor .

(4) FEHR TETor M givreTEr 3fEed W F

T.4) TAIA FAMET T 300 EEd IO (@& : (FIUHET FiA) [30]

(1) PNl A8 dd Ao W H.

(2) WRAT ITHIAAT TEhN Toades™ TN W .

(3) VR AT HEhl Tosdes=aT IoTaT IMoT I I

HOYHMHA 3foT IUTET FHHET HOATHEST 3T Hddl

(4) WRATIIT TEHII (91707 3TTOT  FIRTeToT=l Il T2 &l
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[3769]-508

F. Y. B. Com. Examination - 2010
DEFENCE BUDGETING, FINANCE AND MANAGEMENT
PAPER - |
DEFENCE ORGANISATION IN INDIA
(Old 2004 Pattern)
Time : 3 Hours] [Max. Marks : 80
Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer in 20 words each : (Any Ten) [20]
(1) Who is responsible for ensuring Defence of India ?
(2) Who is the head of the Ministry of Defence ?
(3) State meaning of ‘Territorial Army’.
(4) Write full form of C.R.P.F.
(5)  Write name of the Supreme Commander of Indian Armed Forces.
(6) State any two objectives of India’s Defence Policy.
(7) Explain meaning of ‘Civil Defence’.
(8) What are the functions of D.R.D.O. ?
(9) State meaning of Combat Branches.
(10) Who is the present chief of Naval Staff ?
(11) When was the Department of Defence Supplies established ?
(12) Name any two Indian Intelligence Organisations.

(13) State any two functions of Armoured Corps.
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Q.2) Answer in 50 words each : (Any Two) [10]
(1) Describe various types of Battle Ships in Indian Navy.
(2) Explain Organisation of Naval Headquarters.
(3) Explain Organisation of Army Headquarters.

(4) Describe various types of Air-crafts in Indian Air-force.

Q.3) Answer in 150 words each : (Any Two) [20]
(1) Explain Role of Indian Navy in National Defence.
(2) Explain Characteristics and Limitations of Air-power.
(3) Discuss Role and Scope of Intelligence.

(4) Describe Role of Territorial Army in National Defence.

Q.4) Answer in 300 words each : (Any Two) [30]

(1) Discuss Modernisation Programme of Indian Armed Forces after
1962 War.

(2) Explain Powers of President in relation to Armed Forces.
(3) Write a critical note on Defence Organisation in India.

(4) Ciritically examine Role of Artillery in Warfare.
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qAAT
(1) ad g7 TSI 3MT9qH ITE.
2) ITIESIT 3 goArd GOl OT FOIIar.
7.1) WSl Ro eEd I TTET : (TR FRE) [20]
(1) WARAE FOT FO & AAEd JEEEt HomwEt IJE 9
(2) HAOT HAT@ITET THE HIOT M\l 7
(3) ‘YRR FAT I [T
(4) WARGTET 07 @ET (@
(5) WRATAT FIE TAATEATHT Fdi=g d=m9dd Jid foTar.
(6) WRATAT HWAUT ROl HUME & e @
(7) AR HEror Y e
(8) SLIMILAMT FH AHF B
(9) = fawmT () TS wE
(10) ¥eAT WA AlGdrs GHS BT MEd 9
(11) ST e [T RIAT $@T BT et ©
(12) WRAR @ IO BT J4 A @
(13) Tacterdt SATE HOE J9 FE 9T B,
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7.2) Yd 4o MSFA SAY AT : (FIUMEN FA) [10]
(1) WA Aeddd | dSe Sesid aoi— oiedTd S,

(2) AT YW FEEEATE! qEed AT JSdE (@l

(3) WA W=l YHE FECETE! d¥ed a1 W .

(4) VAN gaESAe farae [ ST 99 6.

7.3) WABI 4o EE IW AT : (FIUTHEt TA) [20]
(1) TEH FAWIOMAE ARAT AIGardt e T F1.
(2) EATESATAT IR AT T OAIET W H

(3) Il HHST T &M T F
(4) TEE AR YRR A9t qfEeT auiE

7.4) YIB!l 3oo IEA IAY AT : (FIUME ) [30]
(1) 9953 FAX WRATAT HIRT AATGATHT ITTE[[THIBIOTAT HIHATN
EEU

(2) T T[AGATAT AIW(AIA TEUATT STRIBR W B,
(3) AT HIUT HUSATEd [ChlcAs ST ToTal.

(4) TEIGAAA ABHAARATT GHST [SHHS 007 foTar.
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[3769]-509
F. Y. B. Com. Examination - 2010

BANKING AND FINANCE
(FUNDAMENTALS OF BANKING)
(Old 2004 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer the following in 20 words each : (Any Ten) [20]

(1) What is Bank Pass Book ?

(2) State any two Agency Functions of Bank.
(3) What is Overdraft Facility ?

(4) What is Commercial Bank ?

(5) What is Bearer Cheque ?

(6) What is Debit Card ?

(7) What is Credit Card ?

(8) What is Cheque ?

(9) What is AT.M. Facility ?

(10) What is Promissory Note ?

(11) What is Cross Cheque ?

(12) What is Fixed Deposit Account ?
(13) What is Current Deposit Account ?
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Q.2) Answer the following in 50 words each : (Any Two) [10]

(1) Evolution of Banking in India
(2) Characteristics of Bill of Exchange
(3) Advantages of Credit Card
(4) Explain Effects of Endorsement.
Q.3) Answer the following in 150 words each : (Any Two) [20]
(1) Explain different types of Individual Account Holders.
(2) Explain Liability Side of Bank Balance Sheet.
(3) What precautions are to be taken by bank for opening Joint Stock
Company Account ?
(4) Explain in detail types of Crossings of Cheque.
Q.4) Answer the following in 300 words each : (Any Two) [30]
(1) Explain in detail Primary and General Utility Functions of
Commercial Banks.
(2) What is Multiple Credit Creation of Banks ? Explain Process
and Limitations of Credit Creation.
(3) Explain Procedure of Opening and Operating Savings Account.
(4) What is Negotiable Instrument ? State types of Crossings.
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(1) @@ 997 TSI TT9TF IR,
(2) ITAIPSIT 3iF FeATd gul T FIAfAara.
(3) Tewiardt Hes IS geAulaeT UgTHl.

7.1) TEHE WAl YdHl o EFd I (6l (FHIUTdEr FE&T) [20]
(1) o 9RA®dT BNl B9
(2) THAT FHIOMET A GG HTE T
(3) 3TUHEY Haold =|US B ?
(4) YN IF TS FE ?
(5) dTEPF gARYT VIS HI ¢
(6) =Sfe FE B/ FI ?
(7) Hiec FE TN I 9
(8) AR WU FH T
(9) TILTA. Flam wWOS w9
(10) TeATraSHT =T foEr.
(11) ITATRT AR F&OTS B ?
(12) #=d 3T W@ TS HE 9
(13) =1 3T T TN FE ¢
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7.2) A TGl Yol Yo esid IR 18T @ (FIUEt q) [10]

(1) HRAdIA o6 FaIEml Ichidl T 6.
(2) EEET AT W FHL
(3) Wfec FEY BET W B,

(4) UITHATS IR W FH

7.3) A G TSB! 340 eFd Id¥ folar : (Hiudar gi) [20]

(1) dUTR® TSR 9B 9.

(2) % aresEErAT 39T (Liability) sTo[d WfawX quiw &

(3) U T IISAET b BT Hlasl =A@ o T .

(4) gATERT=AI WA YT Fgul TS &,

T.4) TAIA FATET Jdd! 300 &Ed IO (@& : (FIUWET FiA) [30]
(1) =UR dhdl YAHS 9 ARl STANET B TS 6.

(2) SO SHET TEAST TACAHA BN B ¢ FACHAET FRAT
T HOET W .

(3) opd =T W IYSUUEl g ATAGUITEl TEdl T B,

(4) TIATHH ITTAUIST WIS B T WTHATE Th I .
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[3769]-510
F. Y. B. Com. Examination - 2010

MANAGERIAL ECONOMICS
(Old 2004 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Draw neat diagram wherever necessary.

Q.1) Answer the following in 20 words each : (Any Ten) [20]
(1) What is Managerial Economics ?
(2) What is Price Elasticity of Demand ?
(3) Define Firm.
(4) Define Monopoly.
(5) What is Average Cost ?
(6) What is Homogeneous Product ?
(7) What is Multiproduct ?
(8) Define Demand Forecasting.
(9) What are Exceptions to the Law of Demand ?
(10) What is Production Function ?
(11) Write two Features of Duopoly.
(12) What is Profit Maximisation ?

(13) What are Giffen Goods ?
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Q.2) Answer the following in 50 words each : (Any Two) [10]

(1) Explain Scope of Managerial Economics.
(2) Explain Total Cost and Marginal Cost.
(3) Write various determinants of Demand.
(4) What are the methods of ‘Profit Forecasting’ ?
Q.3) Answer the following in 150 words each : (Any Two) [20]
(1) Explain different Forms of Price Discrimination.
(2) State methods of Capital Budgeting.
(3) Why Short-run Average Cost Curve is U-shaped ?
(4) Explain Selling Cost and Production Cost.
Q.4) Answer the following in 300 words each: (Any Two) [30]
(1) What is Income Elasticity of Demand ? Elaborate various types

(2)
©)
(4)

of Income Elasticity of Demand.
Elaborate various methods of Demand Forecasting.
Explain Growth Theory of Marris.

Explain the Concept of Monopolistic Competition. Describe
Short-run Equilibrium under Monopolistic Competition.
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[3769]-510
TSt BT
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7.1) TEHE 9Tl YdHl o SFd IWY [l (FHIUTHEr FE@T) [20]

(1) TTRIHT TS TS FI 7
(2) AT fFEd daraedr BUS B 9
(3) SurEEEr @R forEr.

(4) WARENET T {dEn

(5) TWEN T WU HE 7

(6) UBM=HET a% (Homogeneous Product) #orst &= ¢

(7) ‘Sgag SAEA WS w9
(8) wWOT=T gE-3IiETeEr AT foEr
(9) HEOTrET W™ IMOR 3(9arE {oTEl.

(10) I WA /IS B 7
(11) zamrer (Duopoly)dt s dfdresr ferar.
(12) TR AEAHIHOT BN &I 9

(13) fme= @xq (Giffen Goods) oSt &M™ ?
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9.2)

9.3)

9.4)

AT FA Jlhl 4o &id IO (@l : (Frurdat i)

(1) TIRMOHT AT AT T .

(2) TP TE T WA FAE! FHAAT T FHA
(3) HEn Muier sEmR fOiay ged W FA.

(4) AT gﬁ—aiqmuwl qgdl HoTAT ¢

AT JAT Gl 940 R Y Tolel :  (HIuTdgt <€)
(1) fFma fovga ger foern

(2) Wigdd IS Ugdr ToTar.

(3) IEFET TWEY TF 9% U MHERET &1 WAt 9

(4) Toit o 9 IAET ST HheadT I &

Tl FIMl Jdhl 300 IeFd 3a¥ (@l : (HIUTAEt giA)

(1) AT 3@ Addrahal B & ¢ AN 30~ ddrdsdd

fafaer wer Torar.
(2) wWTEn gE-IiETen fafaw gedt e #

(3) #REEr & Mg We &L

(4) FREREE WA THOIT W F. ARSRgF W

IERTAT FHAA T H.

[3769]-510/4

[10]

[20]

[30]



Total No. of Questions : 4] [Total No. of Printed Pages : 2

[3769]-511
F. Y. B. Com. Examination - 2010

OFFICE MANAGEMENT
(Old 2004 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer the following in 20 words each : (Any Ten) [20]
(1) Define ‘Office’.
(2) Define the term Office Management.
(3) What is Office System ?
(4) What is Physical Environment ?
(5) Define Job Analysis.
(6) What do you mean by Disposal of Records ?
(7) What is Indexing ?
(8) What is Communication ?
(9) What is Training ?
(10) Define Office Manager.
(11) What is Inward Mail ?
(12) What is Video Conferencing ?
(13) What is meant by Office Enquiries ?
[3769]-511 1 P.T.O.



Q.2) Answer the following in 50 words each : (Any Two) [10]

(1) Explain Elements of Modern Office Management.
(2) Explain Importance of an Office System.
(3) Explain Qualities of an Office Employee.
(4) What are the various Qualities of an Effective Letter ?
Q.3) Answer the following in 150 words each : (Any Two) [20]
(1) What factors are required to be considered while selecting
location of an Office ?
(2) Explain Elements of an Effective Communication.
(3) Explain various methods of Training.
(4) Explain advantages and disadvantages of Office Automation.
Q.4) Answer the following in 300 words each : (Any Two) [30]
(1) Explain features and functions of an Office in details.
(2) Explain in detail the role and qualities of an Office Manager.
(3) Explain the term Office Forms. Explain basic principles and
importance of Office Forms.
(4) What is Records Management ? State importance and principles

of Records Management.
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q.2) T FTMET WAH! 4o IR I (@l : (FIoTdal i)

(1)
(2)
3)
(4)

AF FA@ET TTRIATT TSF T .

HEATA Hewd I 6.

FETAAT  FHATIE! OTIRIES T F.

THTET O farqe [OTdRTes HioTar o {otar.

9.3) T Gl TP 340 R IO (Tl

(1)

(2)
3)
(4)

P A MRTT BT HIOd O9Sh [T9R_d A AN

d W S

TATIT FIATUATAIA ISk e .

gidreromer fafayr umdl T L

FHATAT T TA BT s d dic W H.

q.4) T 9T TSl 3oo 9TeETd IO¥ foler : (F/UrEEt gi)

(1)
(2)
3)

(4)

FREITE! IS A FETAETE! B AOER T F
FETAT  TARITIRTET JIABT AT I[OT FfRaY T .

FEAT I & TheqaT T B, AT GOl dd 37T

Hed W Hhl.

C [a) RN C [ i
FAEIT  AlGd TIR™JAT BN S ¢ HFEA@AA Al

FRATIATT HE<d 3MYT awd [T
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[3769]-512

F. Y. B. Com. Examination - 2010
ESSENTIALS OF E-COMMERCE
(Old 2004 Pattern)
Time : 3 Hours] [Max. Marks : 80
Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Give illustrations wherever necessary.

SECTION - |
Q.1) Explain in brief any four of the following terms : [08]
(@ HTML
(b) Intra-business
(c) IP Address
(d) Computer Crime
(e) Password
(f) ISP
Q.2) Answer any three of the following : [12]

(a) Explain briefly why Internet is called as ‘A Network of
Networks’.

(b) Explain briefly the following terms :
(i) Internet Security
(i) Search Engine
(c) What is C2C E-commerce ? Explain.
(d) Explain features of MS-Windows.

(e) What is Portal ? What are its functions ?
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Q.3) Answer any three of the following : [12]
(@) Write a short note on Connecting and Accessing Internet ?
(b) How E-commerce benefits Business Organisations ?
(c) What do you understand by E-governance ?
(d)  Write short notes :
(i)  Electronic Market
(i) Trade Cycle
(e) Explain any four Services provided by the MS-Windows.

SECTION - 1l

Q.4) Explain in brief any four of the following terms : [08]
(a) Electronic Certificate
(b) Market Space
(c) Encryption
(d)  Electronic Cash
(e) Banners

() Electronic Auction

Q.5) Answer any three of the following : [15]
(@) Write a short note on Electronic Banking.
(b) Explain briefly advantages of E-trading.
(c) Distinguish between Credit Card and Debit Card.
(d) Write a note on Future of E-commerce.

(e) What do you understand by B2C E-commerce ?
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Q.6. Answer any three of the following : [15]

(@ Write a short note on Process of E-shopping.
(b) Explain : Impact of E-commerce on Market.
(c) What is Direct Marketing ? Explain.

(d) Explain briefly Seller Oriented Market Space.

(e) What is Electronic Funds Transfer ?
Q.7) Answer any one of the following : [10]

(a) What do you understand by Electronic Data Interchange ?
Explain any five benefits of EDI.

(b) Discuss Security Requirements and various Security Protections
for conducting Electronic Commerce.
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[3769]-513
F. Y. B. Com. Examination - 2010

CONSUMER PROTECTION AND BUSINESS ETHICS
(Old 2004 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer the following in 20 words each : (Any Ten) [20]
(1) What is ‘Consumer’ ?
(2) State any three features of Consumer Movement.
(3) State any three functions of Consumer Movement.
(4) State any three reasons of Consumer Problems.
(5) Define the term “Services’ under Consumer Protection Act, 1986.
(6) State any three functions of Voluntary Consumer Organisation.
(7) State any three Social Responsibilities of Business.
(8) State any three features of ‘Consumer Protection Act’.
(9) What is meant by ‘Marketing’ ?
(10) What is “Trade Secrets’ ?
(11) What is “‘Unfair Trade Practices’ ?
(12) Define the term ‘Business Ethics’.

(13) What is meant by ‘Consumer Education’ ?

[3769]-513 1 P.T.O.



Q.2) Answer the following in 50 words each : (Any Two) [10]

(1) Explain the Concept — ‘Consumer As a King’.
(2) Write a note on “District Forum’.
(3) State importance of Fair Trade Practices.
(4) Write a note on ‘Ethics in Advertising’.
Q.3) Answer the following in 150 words each : (Any Two) [20]
(1) Explain Responsibilities of Consumers.

(2)

Write procedure of filing complaint under Consumer Protection
Act.

(3) Explain Gandhian Concept of ‘Trusteeship’.
(4) Explain importance of ‘Marketing’.
Q.4) Answer the following in 300 words each : (Any Two) [30]

(1) Define the term ‘Consumer Movement’. Explain Principles of
Consumer Movement.

(2) Explain Problems of Rural Consumers.

(3) What is “‘Advertising” ? Explain advantages and disadvantages
of Advertising.

(4) What is “Quality Control” ? Explain Methods of Quality Control.

[3769]-513/2



Total No. of Questions : 4] [Total No. of Printed Pages : 2
[3769]-513
A T
YEH HRI AT AR Ao
(ST Rooy Ted)
% : 3 dM] [gspoT TTO0T @ 80
AT -
(1) @& 997 FIsfaor Maeds 378,
2) ITEIESIT 3fF goArd Ul OT FOIfIar.

7.1) TEHE WAl YdHl o SFid I (el : (FHIUTdEr F&T) [20]

(1) ‘ugd’ WO HE ¢
(2) UTEP TAIATEl HIUAEr di i .

(3) UTEF ToAIHT!l HIUMIE! i B (oTar.

(4) TTEhTT FEET HIUCE! di RO Fi.
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7.2) TMCHd 99l Yddbl Yo IFid IR (18T @ (FIUEr TH) [10]

(1) “UTes 2T TS M’ &l Hhoqdar T Ha.

(2) ‘Riegr =m@Ew’ ¥ET 29 foEr
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(4) ‘SE0d @i Affaaed’ Jra S {oTat.
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[3769]-514
F. Y. B. Com. Examination - 2010

BUSINESS ENVIRONMENT AND ENTREPRENEURSHIP
(Old 2004 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer the following in 20 words each : (Any Ten) [20]
(1) What is “Cultural Environment’ ?
(2) Define the term *Unemployment’.
(3) Explain the Concept of ‘Poverty’.
(4) What is ‘Monetary Policy’ ?
(5) Define the Concept ‘IMF’.
(6) What is “Liberalisation” ?
(7) Define the term ‘Business Environment’.
(8) What is ‘Economic Growth’ ?
(9) Define ‘Fabain Entrepreneur’.
(10) Define the term ‘Entrepreneur’.
(11) What is ‘Collective Entrepreneurship’ ?
(12) What is ‘EDP’ ?
(13) What is “‘External Environment’ ?
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Q.2) Answer the following in 50 words each : (Any Two) [10]

(1) State features of ‘Business Environment’.
(2) What are the advantages of Privatisation ?
(3) State legal requirements for establishment of new unit.
(4) Explain role of Women Entrepreneurs in the Society.
Q.3) Answer the following in 150 words each : (Any Two) [20]
(1) What is ‘Unemployment” ? Explain different types of
Unemployment.
(2) State functions of IMF.
(3) Describe in detail the Sources of Venture Capital.
(4) Explain role of an Entrepreneur in the Economic Growth as an
Innovator.
Q.4) Answer the following in 300 words each : (Any Two) [30]
(1) Explain in detail the causes and remedies of ‘Poverty’.
(2) Explain main features of New Industrial Policy, 1991.
(3) Explain in detail the qualities of Successful Entrepreneur.
(4) Write in detail the information of any Successful Entrepreneur

from your region.
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[3769]-515
F. Y. B. Com. Examination - 2010

INSURANCE AND TRANSPORT
(Old 2004 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer the following in 20 words each : (Any Ten) [20]
(1) What is Life Insurance ?
(2) What is Insurance Premium ?
(3) State Principles of Marine Insurance.
(4) What is Fire Insurance ?
(5) What is Crop Insurance ?
(6) State two functions of GI.C.
(7) What is Tourist ?
(8) State two advantages of Air Transport.
(9) State two advantages of Water Transport.
(10) What is a Travel Agent ?
(11) What is Tourism Spot ?
(12) What is Road Transport ?

(13) State two benefits of Tourism to Economy.
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Q.2) Answer the following in 50 words each : (Any Two) [10]
(1) Explain principle of Indemnity.
(2) State functions of Life Insurance Agent.
(3) State advantages of Road Transport.

(4) Explain need of Tourism.

Q.3) Answer the following in 150 words each : (Any Two) [20]
(1) Explain nature of Insurance Contract.
(2) Explain advantages and disadvantages of Rail Transport.
(3) Explain role of Tourist Guide.

(4) State role of Tourism in Economic Development.

Q.4) Answer the following in 300 words each : (Any Two) [30]
(1) Explain fundamental principles of Fire Insurance.
(2) Explain role of Transport in the Economic Development.
(3) Explain recent trends in Development of Indian Tourism.

(4) Explain Scope of Tourism.
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[3769]-516
F. Y. B. Com. Examination - 2010

MARKETING AND SALESMANSHIP
(Old 2004 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer the following in 20 words each : (Any Ten) [20]
(1) What is ‘Grading’ ?
(2) What is ‘Knocked Down Price’ ?
(3) Name Types of Warehouses.
(4) What do you mean by *‘Sales Quota’ ?
(5) What is LS.I. ?
(6) What is “‘Counter Salesmanship’ ?
(7) Define the term “‘Marketing’.
(8) What is ‘Branding’ ?
(9) What is meant by ‘Trade Discount’ ?
(10) What do you meant by ‘Place Utility’ ?
(11) What is ‘Tender Price’ ?
(12) Who is a ‘Retailer’ ?
(13) What is meant by ‘Induction Training’ ?
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Q.2) Answer the following in 50 words each : (Any Two) [10]

(1) What are the different modes of Transport ?
(2) What are the different objections raised by the Customers ?
(3) Describe Classification of Market on the basis of Commodities.
(4) Why is Motivation necessary for Salesman ?
Q.3) Answer the following in 150 words each : (Any Two) [20]
(1) What are various Sales Promotion Techniques ?
(2) Describe functions of Sales Organisation.
(3) State in brief the steps in Process of Selling.
(4) Explain factors influencing Pricing Policy of a Business
Organisation.
Q.4) Answer the following in 300 words each : (Any Two) [30]
(1) Explain Utility of Salesmanship.
(2) Describe in detail the qualities necessary for a Salesman.
(3) Explain in detail the functions of Marketing.
(4) Describe various methods used for Training Salesman.
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[3769]-517
F. Y. B. Com. Examination - 2010

FOUNDATION COURSE IN COMMERCE
(Old 2004 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer the following in 20 words each : (Any Ten) [20]
(1) What do you mean by ‘Disinvestment’ ?
(2) What is ‘Value Addition” ?
(3) Explain the term ‘Recession’.
(4) What do you mean by ‘Negotiable Instrument’ ?
(5) What do you mean by ‘N.G.O.” ?
(6) Give full form of ‘SWOT’ Analysis.
(7) What do you mean by ‘Outsourcing’ ?
(8) Explain the term ‘Liquidity’.
(9) Explain the term “‘Seed Capital’.
(10) Explain the term ‘Patent’.
(11) Describe what is ‘Automation’.
(12) What do you mean by ‘Capital Intensive’ ?
(13) Explain the term “Just in Time’.
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Q.2) Answer the following in 50 words each : (Any Two) [10]

(1) What do you mean by Internet Banking ? What are its features ?
(2) What are the Problems of ATM ?
(3) Write a brief note on any one Problem of Public Sector in India.
(4) Write a note on ‘Transfer of Shares’.
Q.3) Answer the following in 150 word each : (Any Two) [20]
(1) What are the challenges before Co-operative Sector in India ?
(2) State and explain advantages and disadvantages of Franchise.
(3) Write a note on features of MNC.
(4) What do you mean by ‘Foreign Trade Policy’ ? Explain its
significance.
Q.4) Answer the following in 300 words each : (Any Two) [30]
(1) Explain role of SEBI in relation to the Development of Capital
Market.
(2) What are the functions of Commodity Exchange ?
(3) Write a detailed note on role played by Maratha Chamber of
Commerce, Industries and Agriculture, Pune.
(4) Write a detailed note on ‘Protection and Education of Investors’.

[3769]-517/2



Total No. of Questions : 4] [Total No. of Printed Pages : 2

[3769]-517
AT HATAL
% : 3 dW] [TFUT Iqor ;80
qAAT
1) Td g7 FSfor MT9TF TR
2) ITIESIT 3fF goArd gl OT FOIfIar.
7.1) A FAMET Tl R0 e I AT : (FIUATRT F2&T) [20]

(1) ‘g’ (Disinvestment) %ot &I ¢
(2) ‘geaada’ (Value Addition) ®=orst @™ ©

(3) “Ha’ (Recession) WHedAT T .

(4) ‘=g swauast  (Negotiable Instrument) #&oTst @I ©
(5) ‘TAste’ (N.GO.) B/ & ¢
(6) ‘wfe’ (SWOT) fasewoma qof &9 .

(7) “3MSSHNET WOt & ?

(8) a¥xar (Liquidity) FheqdT T .

(9) ‘AT Higsdd® HheGAT T HA.

(10) ‘“THa &6’ (Patent) Fhoa-T T AT

(11) “TITAHOT TS BE o qUA B

(12) ‘qisad qa= WIS BT 9

(13) ‘S*e 3 @A (Just in Time) HheadT I .

[3769]-517 3 P.T.O.



9.2)

9.3)

9.4)

Tl G Tl 4o (&Eid IO @ : (HIUTdal i) [10]

(1) FcHc ofpT WO B ? AEl RS St 9

(2) TIATHAT FHIT HOTET ?

(3) WRAIA HASES ST HIUATEl TRl THEGY UiSrd S

foTa.
(4) ‘YN BAEOT IR S foer.

A F9A T Tl 90 IsFid 3Iad AT : (BIUTEEt <€) [20]

(1) WRAdIA FEHhR AR 3T B[l o T,

(2) TIEENUSERE ®BES 9 die {4@-1 T H.

(3) wHE.UTAHlL (MNC)dET Ired Irex S foar.

(4) ‘UHT FAER RO TWUN FE ? ATH A W B

AT JTT Yl 3oo eFA IA¥ AT : (BIOTHEET €i9) [30]

(1) WiEdd TR [THEr g T Tt st T .

(2) =¥ fafwwEmEr (Commodity Exchange) W &HIowr ¢

(3) IST e IATH HAN, TINES 308 Afrdear, qor JT STractedT
JiHPaR AR o ToEr.

(4) “[AAUIHSRIT HWIOT IMOT R1&07 ey Fiqwaw 9 @

[3769]-517/4



Total No. of Questions : 4] [Total No. of Printed Pages : 3
[3769]-518

F. Y. B. Com. Examination - 2010
ADDITIONAL ENGLISH
(Old 2004 Pattern)
Text Prescribed : Varieties of Expression
Edited by : A. H. Tak and Mohammad Aslam
Time : 3 Hours] [Max. Marks : 80
Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) (A) Correct the following : (Any Ten) [10]
(1) One of my friends know French.
(2) She was late by a hour.
(3) Ravi alongwith his classmates are planning a trip to Simla.
(4) He was an uniquely gifted singer.
(5) The scissors is lying on the table.
(6) They are discussing about politics.

(7) Ramesh has been teaching English since the last fifteen
years.

(8) She has lost her chance, isn’t it ?
(9) The work has completed by Seema.
(10) Satish asked me that | knew a man called Mr. Mohanty.

(11) If you will come before 7 a.m., we will get the morning
train,

(12) You will fail in the exam unless you don’t work hard.

(13) This is the girl which won the first prize.
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(B)

[3769]-518

Do as directed : (Any Ten)

1)

(2)

3)

(4)

()

(6)

(7)

(8)

(9)

(10)

(11)

(12)

(13)

Seema has written a very good short story.

[Change the \oice]

The man said to the waiter, “Bring me a cup of coffee.”
[Change into Indirect Speech]

She was unhappy with the proposal.

[Make it a Negative Sentence]

It was a very beautiful scene.

[Change into an Exclamatory Sentence]

This is the office. | work here.

[Combine the sentences by using ‘Where’]

She took a piece of paper and began writing a letter.
[Rewrite the sentence with ‘Taking’]

I am an indian arent i said the man.

[Punctuate and rewrite]

The story is good. The end is not convincing.
[Combine the sentences by using appropriate conjunction]
This question is too difficult to answer.

[Remove ‘too’ and rewrite]

The train arrived early.

[Name the part of speech of the underlined word]
The rich should help ........ poor.

[Fill in the blank with an appropriate article]
Mumbai is one of the biggest cities in India.
[Change into a Comparative Degree]

He speaks fluently.

[Change the sentence into simple past]

[10]
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Q.2) Answer any two of the following in about 50 words each : [10]
(1) Explain significance of the title, ‘The Rising of the Moon’.
(2) What kind of a man is Lomov ?
(3) Write a brief note on the character of Maurya.
(4) Comment on the theme of ‘Lithuania’.

Q.3) Answer any two of the following in about 150 words each : [20]

(1) Why did the King install judgement seat in the hall of audience ?
Why didn’t the stone angels allow him to sit on it?

(2) How did Giant realise his mistake ? What did he do to mend
it ?

(3) How did storyteller ultimately get rid of the engine ?

(4) How many tricks does the conjurer play ? What are they ?

Q.4) (A) Answer any three of the following in about 50 words each : [15]

(1) Describe different stages in a man’s life as given in the
poem ‘All the World is a Stage’.

(2) Discuss Johnson’s rich tribute to Shakespeare in his poem.

(3) How does the poet expose vanity of King Ozymandias in
his poem ?

(4) How is mother’s reaction in The Night of the Scorpion
different from all the other reactions ?

(5) What is the poet’s message in the poem ‘Gather Ye
Rosebuds’ ?

(B) Answer any one of the following in about 250 words : [15]
(1) Describe theme of the poem ‘From Auguries of Innocence’.

(2) How does Wordsworth describe his nutting expedition in
his poem ?

(3) Discuss ‘The Last Ride Together’ as the monologue of a
frustrated lover.
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TIATRY I WA WEAHE ATISI 6 qraTaard FIara’ & 98
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S A | G 11l = s S 115 S 21 2 ) B Tese Ll D R e [10]
TFar

STHEE, TSieeT SEASTIR I TAAT AN qqaed=t e o I
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FYA STTIT FTFTRAT $0% THT JTER BT TI0TI=S TIR

. [10]
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e, ar Far !

SRSl WAAT T A, FET Fr AT THH! A STHH
[S9d ATEl, 9T H97aTes J|al. M THHHUNG AAT iHY Heam.
A Wa.aeE AR @R HA4d Iwdr. AT al w\ar, S
TRIIeg d@ T Wa.[aeg W Saea il disid 3/&al. |7 o
T JIEd. ATASAS gadh! qihg gfdl, 0 Al 92 HT Jxdraal
ARl ¢ WA HHOrEl, GHEl UF Bl a8 B A GHA B
WAt ¢ HT AT FIMAT FTART Tt ATEN 2 & regeyar, fawwar,
ITH, TG, = # TWEA $E qhd ATEL WU Siaarer
JOTATOTRS SATATAT AT uTdet &1 379l Wesdtd ¢ FHetem g7oft
A BT ATGRY el ? St ATERIA IRTAST g, af AT STaedr
I ATEREY AT UHiArd 37 Sresl. I 0T ITAT §5 3 3THAT.
ITAHTST Telihes SAEUAT., STHATIE TAGTE HTHFR TN

WAL, IO AR AT T e df U S Al
EEL

(F) TN IS IATITT AJAST WA B [10]

In the present days there are many strikes which are quite illegal
in British Industry. Workers launch strikes against the advice of
their trade union leaders; they do it without three weeks’ notice
and often on grounds which are political and have no connection
with their working conditions. Recent docker’s strikes in London
have been organised by communist agents for political purposes.
Such strikes of course are illegal.
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(1) T&F / T 9, TR, EASR A fEaT SrEran
g5 & o, |fag, W Reor Jwn, qa & A 3dEd
g7 feerar [/ foear 2|

(2) wrgg / At B8), sot, NAMEH, ATNE # A EX
Pt TSt &1 TR T N ad §Y FAERAT ‘T, AHAAT

® FHEE & AW 97 foaar / a7
(3) Frfafea # & et o6 fawg 9¥ faamos &1 91 R S o [05]
(1) &R # ST J97 AETgd
(2) TN B FEER &A@

7.2) (31 TEfaRad & ¥ Frdt o Sraaeor @t gded @t ited o [05]

(1) ‘3T FpaT ®er &% & ... 97 ¥ $a1 - § Wg-wrraat
B BT T UC TN | T=d B @A THL TH HiA
# gt W, dfeT =t a FE... 3w 9@ w® | |7

(2) “3rFAT | (oA WEA AT SAH F BT IR AqGd BT & |7
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(3m) frfeRad & 9 TRt UF 31aaeeT ®f SEed SRy s o [05]

9.3) (37

(1)

(2)

“qEaAE I feg

Uh, HIN, 3BT W,

T$, TR, IA61 HAGIAT,

TH, WR, IT60 &’

“J FeSl UM< BT gA, WIS B WA UH B AUH |
M # BA B US|, ot qe g wnr o l”

ffrafaiad & @ fet & wodl @ S 9e # oy - [10]

(1)
(2)
(3)
(4)

AEATE BT TN ey St |

“qugl’ ME® B WAl AT |7 T S |

TSI T A ITUAT WS ATTS B 3TN [FHD I AAAT AT

MEATY 4 % B Iad HI dART BA Fr 9

(3m frfaiga & @ TR &1 weat 3 S d@ew # TRy [10]

[3769]-520

(1)
(2)
(3)

(4)

“HTUCTIIROT T = W ag HF YO 3t & |7 T HIT |
e 3 ‘fver® &1 9o w9 fRam 9

AEAEA aqdat & ‘Tagte’ Siadr &1 Arard M= reat
d faferr |

g feey 7 ‘Y’ &1 HeWar TR sl # ATHerEd &

G|
?

59
g
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9.4) (37)

(3m)

(®)

frfafoa # o et & v &1 S fowga w9 # faRay - [10]
(1) ‘9F H T@ FEA B HUER GPT F foAre |

(2) “3MBA FEHET B MR YT FIAT LT BT TN =707 FHIRTH |
frfatea & o TFdt o= 997 &1 3 fowgd ®9 & faRad . [10]

(1) ‘FI-3F Hadl &N 4d 7 A9 & 69 q&T H IR
fpar 2 9

(2) ‘oo ® gl wigar # Ty H9 aE e gIm g 9
feomat e [10]
(1) ‘TS BT B AT |
STeraT
TS SATEIAE - |
(2) ‘@Y =On 9T Hlaar H FIA |

STIAT

TEIMAT  Hiaam BT F2T |
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Total No. of Questions : 5] [Total No. of Printed Pages : 5

[3769]-521
F. Y. B.Com. Examination - 2010

FRENCH
(Old 2004 Pattern)
Time : 3 Hours] [Max. Marks : 80
Instructions :

(1) All questions are compulsory.
(2) Use of dictionary is not allowed.

Q.1) Ecrivez une lettre sur UN des thémes suivants : [10]

(@ Vous serez en déplacement pour votre usine. Vous allez a Lyon.
Vous cherchez une chambre d’hotel. Ecrivez une lettre a votre
agence de voyage pour réserver une chambre pour une personne,
pour dix nuits. Vous cherchez un hotel avec parking.

Oou

(b) Vous étes le / la secrétaire du directeur de I’usine ‘BONATEL”.
\otre directeur va visiter 1I’'usine ‘TELAVANCE’ a Madrid. Vous
écrivez une lettre a cette usine pour dire I’heure, la date de son
arrivée la durée de son séjour et la date de son retour.

Q.2) Ecrivez UN dialogue : [10]

(@ \Wous allez habiter a Lyon pendant 2 ans. Vous allez chez I’agent
immobilier pour chercher un petit appartement meublé, de deux
piéces, avec une douche, pas trop cher; dans un batiment
moderne avec parking. Ecrivez un dialogue de 7-8 répliques avec
I’agent.

Oou

(b) Vous étes allé(e) au supermarché. Vous cherchez les sections
‘Livres’ et ‘Disques’. Vous interrogez un employe. Ecrivez un

dialogue de 7-8 répliques.
[3769]-521 1 P.T.O.



Q.3) (A) Traduisez en anglais : [10]

Nous sommes importateurs directs en chapeaux (cérémonie,
mariee...). Nous sommes implantés sur toute la France. Pour
compléter notre gamme de produits, nous cherchons de nouveaux
fabricants.

Pourriez - vous nous envoyer une brochure ou des photos de
vos produits avec un tarif, afin de connaitre vos articles et
envisager un rendez - vous lors de notre prochain voyage en
Espagne ?

(B) Traduisez en anglais : [10]

A : “Notre entreprise s’appelle ‘Médrane’. et a sesrieges a
Strasbourg et a Lille.

Notre maison - mere est a Paris. Il y a des agents
commerciaux a Lyon, Bordeaux, Nantes.....”

B : “Vous n’avez pas de bureaux en Italie ?”

A . “Pas encore, mais nous avons des clients en Angleterre,
en Belgique et aussi aux Etats - Unis.”

B : “Vous n’avez pas de clients en Italie” ?

A : ‘Si, nous avons 100 clients en Italie. Et nous avons 2300
employeés et plusieurs agents commerciaux dans tous les
pays. Nous travaillons avec des sociétés internationales :
ITC, DELTA, GROENIG, et UHLMANN, FRANCE -
DEM”.

Q.4) Compréhension : lisez le texte ci-dessous et répondez aux questions
qui suivent :

PRENDRE LE TRAIN EN FRANCE

Le réseau ferré francais est exploité en quasi - to talité par la SNCF
(Société nationale des Chemin de fer francais).

[3769]-521 2 Contd.



Le réseau ferré francais est tres dense. Mais la plupart des grandes
lignes partent de Paris.

Il'y a 6 gares a Paris :

la gare du Nord pour aller dans le nord de la France et les pays
du nord de L’Europe;

la gare de L’Est pour aller dans I’est de la France et les pays
de L’est de L’Europe;

la gare d’Austerlitz pour aller dans le Sud-ouest de la France
et en Espagne;

la gare de Lyon pour aller dans le sud et le sud-est de la France,
en Suisse et en ltalie;

la gare Montparnasse pour aller dans I’ouest de la France, en
Bretagne et prendre le TGV - Atlantique pour aller dans le Sud-
ouest de la France;

la gare Saint - Lazare pour aller dans I’ouest de la France, en
Normandie et en Grande - Bretagne.

Pour prendre le train en France, vous compostez votre billet avant de
monter dans le train.

(A)

(B)

(©)

(D)

[3769]-521

Répondez aux questions suivantes : [04]
(@  Que faut-il faire avant de monter dans le train en France ?

(b) Quest-ce que cest la SNCF ?

Dites vrai ou faux : [04]
(@ La plupart des lignes de la SNCF part de Paris.

(b) La gare d’Austerlitz est pour les trains qui va dans la
Normandie.

(c) Le réseau ferré francais est dense.
(d) Pour aller en Suisse, on va a la gare de Lyon.

Donnez I’infinitif : [01]
exploité
Quel est le contraire de : [01]
grande

3 P.T.O.



Q.5) Grammaire et vocabulaire :

(A)

(B)

(©)

(D)

(E)

(F)

[3769]-521

Mettez au pluriel : [04]
(@ J’ai une chambre réservée.

(b) Ecoute la réceptionniste de I’hétel.

Mettez les verbes parenthéses aux temps indiqués : [03]
(@ Le loyer ne (étre = passé composé) pas tres cher.

(b) Cette maison (comprendre - présent) un rez-de-chausseée,
un étage et un garage.

(c) Je (prendre = futur) du poulet

Complétez avec une préposition : [02]
(@ J’ai réservé une table 4 personnes.

(b) A midi, je déjeune la cantine de I’entreprise.
Mettez au négatif : [06]

(@ Tu choisis le montant.

(b) Il faut acheter ce livre au supermarché.

(c) Ou as-tu appris le frangais ?

Trouvez I’objet direct : [05]
(@ Montrez votre passeport a la douane.

(b) J’appelle pour confirmer la date d’arrivée.

(c) Il faut présenter le permis de conduire.

(d) La serveuse sert le thé.

() Composez le numéro de votre correspondant.

Dites vrai ou faux : [05]
(@ Un habitant de la Grece, c’est un hongrois.

(b) Une personne qui n’est pas mariée est célibataire.

(c) En France, it y a 11 jours fériés par an.

(d)  Pour acheter un billet d’avion on va chez I’agent immobilier.

(e) Dans les auberges, le propriétaire fait la cuisine.

4 Contd.



(G) Choisissez la bonne réponse :

@)

(b)

(©)

(d)

)

On peut vérifier L’huile

()  a/a station - service
(i) au grand - magasin
(i) a l’agence de location

Pour entrer dans un pays étranger, il faut passer par

(i) la banque
(i) la douane
(i) la gare

Au supermarché, on achete un jeu d’échecs a la
section

(i)  disques

(i)  jardinage

(ii)) sports et loisirs

Le directeur technique co-ordonne les activités de
(i)  fabrication

(i)  ventes

(iii))  rémunération

Les steaks sont mangés

(i)  bien cuits

(i) frits

(i) avec le melon

[3769]-521/5
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Total No. of Questions : 4] [Total No. of Printed Pages : 3
[3769]-523

F. Y. B. Com. Examination - 2010
ARABIC GENERAL - |
(Old 2004 Pattern)
Time : 3 Hours] [Max. Marks : 80

Q.1) (A) Translate into English any ten of the following : [10]
cQub 2 530 ()
S il (m
oalad i il (M
el gl is (9
Wil (o)
Ly pullall Ba ()
s ol dsa (V)
Ostib igl Jal  (A)
SRk {5 Y s ()
- cate gl 3250 (1)
gt gyl ()
. dalls {lusl Gl (v

Cdawly di Gayl (V1)

[3769]-523 1 P.T.O.



(B) Translate into Arabic any ten of the following :

(1)
2)
)
(4)
()
(6)
(7)
(8)
)
(10)
(11)
(12)
(13)

Good land is costly.

Severe cold 1s painful.

The ripe date is sweet.

The two carpenters are working.
The knowledge is light.

The intelligent boy 1s successful.
The two girls are writing.

The wise man is advising.
Many sincere servants came.
Fatima 1s intelligent.

The mothers are kind.

The red rose 1s fine.

The schools are opened.

Q.2) Write into Arabic any two of the following :

[3769]-523

2)
)

(4)

(1) Ten words related with the Bank.
The week days. ¢ PR N 1
The letter in Arabic to &5 cé i 5 %‘55)
the Company Manager. | dej ull‘
The Islamic months. ;j;gj_wl ; 2

idl Ll 355

(V)
(¥)
()

(%)

Contd.

[10]

[10]



Q.3) Explain with the examples any two of the following :
Sally daz
55LaY) Ll
a5l A
| BN e

Q.4) (A) Write in detail any one of the following :

(B) Summarise any three of the following :
sl l 555
3ol 34
iL L

=3

\Gr$

[3769]-523/3

(V)
(Y)
(v)
(¢)

(v)

(V)
(Y)
(v)
(¢)

[20]

[15]

[15]



Total No. of Questions :

4]

[Total No. of Printed Pages : 4

[3769]-524

F. Y. B. Com. Examination - 2010
PERSIAN GENERAL

Time : 3 Hours]
Instructions :

(Old 2004 Pattern)

(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

[Max. Marks :

80

Q.1) Define and illustrate any ten of the following :

[3769]-524

5,
S
s,
A
S uF

5 law |

[20]

0
(r)
(r)
(")
(8)
(1)
()
(A)
(9)
(1+)
(D)
(1r)
(r)

P.T.O.



Q.2) Define any two of the following :

Q.3) Write critical notes on Poetic are any two poets of the following :

Sl ooy
Sl JG’

)/; A
$il 2 5

OR

Write an application on any two of the following
poems in your own words in Persian :

2 Qe
£ i
sy b
J)L J

Q.4) (A) Explain any five couplets of the following :
J{(’ ety Y
e S S Ut U U

£ (L‘J e [ (:j 027
L33 ft‘»’ WPy -4 (‘f

[3769]-524 2

()
(r)
(")
(")

("
(r)
(")
(")

()

(r)

[10]

[20]

[20]

[20]

Contd.



wS e TS B3
1y Jb g K era
el erF NP S @
el sl F ol S el
I fs L6 o JF O (5)
U 0T wsp K
b 6L 3500 (6)
LIS S
$ ot FE ookl )
g o J:/i Eoah eF

(B) Translate into English, Urdu or Marathi any two of
the following :

S b AL L gk s (1)
st sbe - f F ol b UT ¢ 0
SIS s E b ak o

Sei X Ly 2T reond S lr

- 6 s ,glf?-,gjy‘g!/-,g:/

YR ST NN R - ()
< L])J)J;d/oo_/‘{u‘/)'f:,«’/};
FIo T e o < sl 36T St 7 ouT
- 4ole u’z_/):/u' & ouTs 26
..,Cfl 8(;’37 C} sk e

[3769]-524 3
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oS- it s by e L ole (1)
23 0357 ¢l p{)‘) oy f// P ) R 31%
4 T waf 0T ot S s 28 &
i o2y o€ J:( Jarg 2% 31 Uk £ J
ofgﬂ)yﬂd&ff,g:buwalb)
- 2l S oS

[3769]-524/4



Total No. of Questions : 4] [Total No. of Printed Pages : 4

[3769]-525
F. Y. B. Com. Examination - 2010

SANSKRIT
(H&pa WRW)
(Old 2004 Pattern)
9% : 3 ] [TERUT TUT : 80
Q.1) Write short answers of any ten of the following in brief : [20]
7.1) Yeldud! HIOTEl ST gl JiEd| X Al [20]
(1) Write total types of donations and how do Tamasa People give

donation ?

S THUT UHR [@gd aHd Al HH S Iad o (oal

(2) How many vidyas have been mentioned by @tieea ? What are
they ?

Pifce™ THOT fhal foam Fif@edm med g HiorEr
(3) What is meant by ‘arfirawa’ ?
i’ oS w1 ?
(4) How did poet describe condition of Ganga river ?
T ASET TN HAM BT ATt Mg ©

(5) What is meant by ‘T5&@ da’ ¢

T AT’ B B 7

(6) What is meant by ‘@ifxa® 3MER ?

“afas IMER | HI ¢

[3769]-525 1 P.T.O.



(7)

(8)

9)

(10)

(11)

(12)

(13)

How did poet explain & is important ?

29 Ty 3 2 A HH W Bl AR 9

What did 9Tee® say to dRay ?

ISR TRl & FiRad ?

Why did poet say ‘fexogsarsa’ ¢
TeoTRas’ 3™ HAl BT TOEr 9

What is an ornament of ‘Tea®’ and ‘e’ ?
“Gogal’ ImfoT ‘Of’ T WU HIOT 9
What is Sugriva’s opinion about fersftsor ¢
U™ faioTEEad AT SO 9

How does ama=it slander I= and why ¢
qEdE T HAT TART wr et w9
What did poet say about ‘fgoit’ ¢

TrEviifasdt wde FE FREA 3ME 2

Q.2) Translate any one from Section ‘A’ and any one from Section ‘B’

into English or Marathi : [12]
7.2) Yeldudt ‘7 TIWETGd HIOTTat Ghid ‘& TI9mTaid Sioterat
THME SUSIT fhaT AUSId WIOidT & [12]

(1)

[3769]-525

SECTION - A (fvmr - 3)
JUTIatEd: H I qATE TEaq |
EICSE NSRS RS BRI E ]

Y PHH: I qamEamy TATH |
My ey IoHe WA ||

2 Contd.



(2) TFTEROTHA ATFBIEST HHS AT
FIUHIAS] q7 AAE  AISTEH |
fafeawfafed a1 wEHa@Ea
T T FHEO StEed ot ||

SECTION - B (fqwmr - @)

(1) 90 IR AT TF: TS FATHRAEN JGHH T TAGHAITH
TATETHET. ‘318 qragaardl TTa=:, Al TS HT |7 aaed=rdl
TS NG g - ‘BT | TS FAT HTDA FASTHARG, TG
fFaa™ I &% a9 - ‘6 o go9q ¢ IRa g4 - TR
FIOIFLATT &f& " TS @ - BT o FAUT ¢ IR I -
‘g g, gagy Tl

(2) A - TH, HIUTHRANGA TEASHAGH TSI |
e - TeTETEUTETE: (MSRR 9SASEE 98 O

UraeT) g I e |
TEAS: - (TAH)

TMOTR 3THBUT FEAT ST T4 |

frafoeia orgy 6 qHH STas= |

Q.3) Write a note on one from Section ‘A’ and one from Section ‘B’ :  [18]
7.3) ‘7 [IunTdid UHTaR g ‘4 TqumTTdid OTaR g faer [18]

SECTION - A (fwmr - @)
(1) Three types of d@
ffqer aq
(2) gwAT™Ar
SECTION - B (fawmr - )
(1) Character sketch of a/=t in ‘U9 FZON W’

‘T HOTT W IIOTT 3N dI=<e SR re=IoT
(2) =zugAIfa:

[3769]-525 3 P.T.O.




Q.4) Write long answer of any one of the following from Section ‘A’

.4)

and any one from Section ‘B’ : [30]
U fIATTAIA HIUTATE THT JAT T ‘& [TANTGi HIotcmat Tt
TS Ay I foTar [30]
SECTION - A (fawmr - 31)
(1) Critically appreciate lesson of ‘THHa: faWiYURAHR:
THFA: [ THIYORARTG” A7 UIeT JHUET L
(2)  Write an essay on lesson “Tsterdm’.
‘TqAFAN AT UeTay feier T
SECTION - B (framr - @)
(1) Write story of ‘@Ra¥ and its essence.
GREY FAT Tdgd FI9 ad e
(2) Write an essay on lesson ‘3m9<d:’.

MU’ AT geTaY ey forEr.
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[3769]-526
F. Y. B. Com. Examination - 2010
SINDHI
(Arabic)
(Old 2004 Pattern)
Time : 3 Hours] [Max. Marks : 80

S Olg Le g 008 2 ws wle wsie DI
[20] (p whs) 20 JaiT)

(Lol Gias copledf0n onn Lts

ol 935 ofle dollse P

wog s 2l e P /19 4> L s sl

’Cuwﬂ%uﬁbﬂ_

(505 ot glms o I5(> eies

94 Jse T 9l 9o Dol

(@%JL}D\Q/M 9_<>LAQJJ WIg>9 e L)J%u

(T 9lms Sl UJ/D: 3.:>/de~<9

foo gt 08T /’. \/SJM'

§ 90 9}41%7'/05 M}@é

o o LS o ol il o Tl 0
(o3/Sy & Lﬁﬁf’

(U@/ s ol s fu bb ﬁ/‘v" al

P S yfwafdoy» AP

J> p B3P /’ﬂ” C""*“Lﬁb VSt

[3769]-526 1 P.T.O.
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los le s o o w2 ol e © Jiges
[10] ‘ *"Q/J/‘D KJ_ILOJ\SO d\’:—ﬂ
{bfb uuég_{/\} \/,.»:& L—D/ '
£ o L)*.{é/}o?}“ P OV
fondoo o3 é)-bj Laslohs o)y o

Bl pug_e oo Sle @ py”

Olos Lo Wlpm 2 w3 ols crmen (D Jises
[20] - i f) p k) 150 yabi
ETVCE ] v o\@wmm @o os-io Ia—w U\PL@’:}M
‘ ulujg?oo()é_wugﬂf?—o/:/uéu CopeD
[30] —is8 P
%wubﬁﬁ P

i/
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Total No. of Questions : 4] [Total No. of Printed Pages : 2

[3769]-526

SINDHI
(Devnagri)
(Old 2004 Pattern)

Time : 3 Hours] [Max. Marks : 80

qara-1) gfeafy w f6f T el gaet s Saw sifeswa o AT

# feon [20]

(1) ¥ a9 S TRA Hlegt M8 ¢

(2) TIWS BT W Tqgal AMME ¢

(3) UEHI AN S FW@N H I AR Flegd Wels AMST 9

(4) HIET I W Hlegl I HAT 2

(5) WTHIT ST 3Tl IGA [T,

(6) TRY S I8 TS AT S Hlegl TATHA 3ME 9

(7) TSH ST ISR AIES Hiegl g 9

(8) SR H 3T HIRT & 9

(9) R RN & T & M ABR AT HEST AR HH A0S
B9

(10) oRTE WEHPNI WA H AT TOUT S BlES! HRO] AT ?

(11) =R STET @ sy Het e ¢

(12) 9970 9% BIBT BRI g ¢

(13) ST TS SIAadH St et # fao s iy e fuw ot ¢

[3769]-526
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qATA-2)

FaTeA-3)

TaTA-4)

gigatr @t f6fv iy fafvw gamai s Saw stfewa yo awatiA
# faw [10]

(1) TS SHY Ul Uo7 S &NET ¢

(2) Hiar ST wgew st REr ¢

(3) T FEAW TV B F@AT ?

(4) W M RN FE I wHigar St dreqs] fort.

gfeata &t fef v fufw gaett o sEw sifeswa 240 g™
# e : [20]

(1) F St gwghe ot Home T

(2) Jd H HEAT Wt S M9 A9 *fEer =@ 9
(3) wwE St fpwew fomdt s,

(4) WRA AAAT qobA ST HESR Hif AU WES ?

dfeatr &t @ W s 7 AW sfewa 300 wwwlv ® fawt : [30]
(1) A ST sToReT
(2) TEE S OHS

(3) SihEfe AT o= #HAT gl !
(4) 31y ST AN
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Total No. of Questions : 4] [Total No. of Printed Pages : 4

[3769]-527
F. Y. B. Com. Examination - 2010
URDU GENERAL
(Old 2004 Course)
Time : 3 Hours] [Max. Marks : 80

- S0 ety (V“

[20] 2 ez ey &S S 1 A
i gl S iy ()
cdn S S L7 LS E
S LB L Ly (M)
S S S U L ()
T b S Uiy Lol (8)
S F U kel (D
e dT Ut S e § G iy (2
e WS Uz ST (M)

T bl W JL? K u;L Ur Jh b UJL)JK P 8/(? (9)
bt I L by (9

e\ Tt S S S Y (1)
S U S e L B sl (1)

P.T.O. 1 [3769]-527



[10] Eyelr Loy =t ds ¥ AUy
ST ey iy & OB u® (O
t e
E ke AL e e (D)
FOFE U L BT ()
¢ < dus

2 e el & § e ()

[10] L ZE 2 S Usel iy g S (LD r Al
(&L 4N
Agent (1)

Agreement (1)
Borrower (1)
Capitalization ()

Deduction (&)

Contd. 2 [3769]-527



[12]

[12]

[10]

[05]

P.T.O.

Deficit ( ")

Gainful Occupation (&)

Demand (A)
L LTS FLap
.-

¢
J 8 suf (S Z ﬁ/{/g JQL W3T LYy
S e § g S

(«)

:’&Ju;‘»/?ul}’_{lu’( () Ay

Uists w5 e1f sl F Gy (D

JIB g (L] 3w 2 usizs ()

E oS oy e ok LU
AV Y ANV-SN- ST ()

L aG o el (D
_J@ﬂgJ;watgﬁé_guJ& ()

(<)
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[05]

[05]

[08]

& S e (@)

L
ek S G e
L2 25 S ¥ UL LU

We went to a temple yesterday. A learn man was sitting
there. Many men were listening to him. He was telling
them do not behave foolishly. Avoid the company of
wicked men. A good name is more precious than jewels.
Letus not encourage the flatterers.

[3769]-527/4
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F. Y. B. Com. Examination - 2010
FOUNDATION COURSE
(Restructuring Courses of F.Y.B.Com. Only)
(Old 2004 and New 2008 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions :

(1) AIll questions are compulsory.

(2) Figures to the right indicate full marks.

Q.1) Answer the following in 20 words each : (Any Ten) [20]
(1) What is ‘Poverty’ ?
(2) What is ‘Culture’” ?
(3) What is “National Integration’ ?
(4) What is ‘Religion” ?
(5) What is ‘Productivity’ ?
(6) What is ‘Pure Science’ ?
(7) What is ‘Society’ ?
(8) What is the meaning of ‘Government’ ?
(9) Define the Concept of ‘Nation’.
(10) What is ‘Caste’ ?
(11) What is “Superstition’ ?
(12) What is “Pollution’ ?

(13) What is the meaning of ‘Privatisation’ ?
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Q.2) Answer the following in 50 words each : (Any Two) [10]
(1) Write a note on ‘Self Employment’.
(2) Indicators of Poverty
(3) Rule of Law

(4) Write a note on ‘Modernisation’.

Q.3) Answer the following in 150 words each : (Any Two) [20]
(1) What is the importance of Religion in Indian Society ?
(2) State and explain various steps involved in Scientific Method.
(3) What are the causes of Sickness of Indian Industries ?

(4) Explain Characteristics of Indian Society.

Q.4) Answer the following in 300 words each : (Any Two) [30]

(1) What are the various obstacles in achieving the Goal of National
Integration in India ? Suggest measures to remove obstacles.

(2) What are the causes of Poverty in India ? Suggest measures to
eradicate poverty.

(3) State and explain merits and demerits of Indian Democracy.

(4) State and explain Effects of Science and Technology on Agri-
culture, Health and Rural Development.
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COMPUTER APPLICATIONS
(Vocational Course - 1)
(Old 2004 Pattern)
Time : 2%, Hours] [Max. Marks : 60
Instructions :
(1) Attempt any five questions from Section - I.
(2) Attempt any five questions from Section - II.

(3) Figures to the right indicate full marks.
(4) Draw neat and labelled diagram wherever necessary.

SECTION - 1
Q.1) What is an Input Device ? List various Input Devices. Explain in detail
any one of them. [06]
Q.2) (A) Convert decimal number 623 to its equivalent binary
number. [02]
(B) Convert decimal number 510 to its equivalent octal number. [02]
(C) Compute binary addition 11101 + 10001. [02]
Q.3) Write a note on Use of Computers in Modern Society. [06]
Q.4) Explain briefly the following devices : [06]

(@ Output Devices
(b) RAM and ROM
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Q.5) Explain block diagram of Computer in detail.

Q.6) Explain briefly the following :
(@ Spread Sheet
(b) BCD and EBCD

Q.7) What are various Secondary Storage Devices ? Explain in detail
Magnetic Disks.

SECTION - 11

Q.1) What is Windows Operating System ? Describe advantages of
Windows.

Q.2) Explain the following functions used in MS-EXCEL :
(@ DATE()
(b) MAX()

Q.3) Explain Mail Merge Operation in Word Processing.
Q.4) Write various Inputs to Goods Purchase System.

Q.5) Explain briefly the following terms :
(@ Tool Bar
(b) Task Bar

Q.6) Explain Format Menu in MS-Word in detail.

Q.7) Explain the following terms in brief :
(@  Spell Check
(b) Page Setup
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F. Y. B. Com. Examination - 2010

TAX PROCEDURE AND PRACTICES
PAPER - |
INDIAN TAX SYSTEM
(Vocational Course - 1)
(Old 2004 Pattern)

Time : 2 Hours] [Max. Marks : 60
Instructions :

(1) AIll questions are compulsory.

(2) Figures to the right indicate full marks.
Q.1) Answer in 20 words each : (Any Seven) [14]

(1) Define ‘Tax’.

(2) What do you mean by ‘Tax Sharing’ under the Constitution of

India ?
(3) Define ‘Person’ under Income Tax Act, 1961.
(4) Define ‘Previous Year’ and ‘Assessment Year’.
(5) Define ‘Assessee’.

(6) What are the Direct Taxes of Central Government ?

(7) State Tax Entries under ‘Concurrent List’ under Seventh Schedule

of the Constitution.

(8) What contents are given under Article 245 of the Constitution ?

(99 What is ‘Casual Income’ ?

(10) Write note on ‘Cash Withdrawal Tax’.
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Q.2) Answer in 50 words each : (Any Two) [08]

(1) State various characteristics of Taxation in India.
(2) Write note on ‘Taxable Perquisites’.
(3) Explain Kinds of Capital Gain.
(4) State Deductions from Salary.
Q.3) Answer in 150 words each : (Any Three) [18]
(1) Write note on ‘Income Tax Rates’ for the year 2010-11
Assessment Year.
(2) Write note on ‘Wealth Tax’.
(3) Give difference between ‘Direct Tax’ and ‘Indirect Tax’.
(4)  Write note on Provident Fund and Gratuity under the head Salary
Income.
(5)  Write note on ‘Annual Value’ under the head ‘Income from House
Property’.
Q.4) Answer in 500 words : (Any One) [20]
(1) State various Heads of Income. How Income from Business
and Income from Other Sources computed ?
(2) State various taxes of State Government and describe in detail

each of them.
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F. Y. B. Com. Examination - 2010
OFFICE MANAGEMENT AND SECRETARIAL PRACTICE
PAPER - |
TYPEWRITING
(THEORY AND PRACTICAL)
(Vocational Course - 1)
(Old 2004 Pattern)
Time : 2 Hours] [Max. Marks : 70
Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

(3) Answers should be precise and to the point.

THEORY [Marks : 20

Q.1) Write functions / uses of the following points of the typewriter :
(Any Five) [10]

(@ Back Space Key
(b) Shift Lock

(c) Margin Release Key
(d) Tabulator Bar

() Margin Setter

()  Line Space Setter
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Q.2)

Q.3)

Q.1)

Fill in the blanks : (Any Four)

(@ Keyboard consists of function keys.

(b) cleaning is necessary for typewriter.

(c) For a good typist in spelling is necessary.

(d) The person who knows typewriting is called a

(e) Paragraph Setting is done by key.

Write short answers : (Any Two)

(@ Explain importance of Portable Typewriter.

(b) What are the features of Sitting Position for a Typist ?

(c) What are the differences between Electronic Typewriter and
Manual Typewriter ?

PRACTICAL [Marks :

Type the following passage in twenty minutes :
[Use one and half line spacing and margin of fifteen spaces on left.]

Lord Buddha had many disciples and he used to go on wandering
all over India. One of his disciples was quite abnormal. His name was
Ashwalayan.

When all the disciples used to sit under a tree for shade, he would
stand in the burning sun. When all would walk on the road, he would
walk through thorns and stones. He tortured himself to the last extent.
Everybody was worried about him. All of them requested Lord Buddha
to do something in this regard.

Lord Buddha was a balanced thinker. Once he called Aswalayan and
said, “Ashwalayan, | heard that you were a great musician before you
joined the Sangha, the monk order. You could play on the Veena very

[04]

[06]

50

[20]
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nicely. You were a master musician. Would you please tell me what
would happen if the strings of the Veena were too loose ?” Ashwalayan
replied that they would produce no musical notes at all. Then Buddha
asked him, “What would happen if the strings were pulled too tightly ?”
He replied that they would break. Lord Buddha smiled and said, “Are
you not doing the same thing about your life ?” Try to understand
the truth.

Q.2) Type the following business letter in proper format in ten minutes : [20]
M/s. Jyoti Dresses, Main Road, A’nagar
Ref. : MH/2009-10/dated 3/3/2010
Subject - Readymade dresses requirement
Dear Sir, with reference to the above letter, | am glad to inform
you that we require 50 school dresses immediately, therefore you
are requested to send 50 number of dresses as per the sample you

have sent to us. Further you are requested to send the bill in duplicate.
Thanking you, Your’s faithfully, Headmaster Maratha Highschool,

A’nagar.
Q.3) Type the following figures properly in ten minutes : [10]
19220 12220 300
2222 734129 66
71714 6700
9916 2010
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F. Y. B. Com. Examination - 2010
COMPUTER APPLICATIONS
(Theory)
(Vocational Course - II)
(Old 2004 Pattern)

Time : 2%, Hours] [Max. Marks : 60
Instructions :

(1) Attempt any five questions from Section - I.

(2) Attempt any five questions from Section - II.

(3) Figures to the right indicate full marks.

(4) Draw neat and labelled diagram wherever necessary.

SECTION - |

Q.1) Explain Structure of ‘C’ Program. [06]
Q.2) What is Function ? Explain Functions with examples. [06]
Q.3) Explain various Controls with Syntax. [06]
Q.4) Explain For Loop with example. [06]
Q.5) Explain briefly the following terms : [06]

(@ Array

(b)  String
Q.6) Explain various Data Types in ‘C’. [06]
Q.7) State various Keywords. [06]

[3769]-537 1 P.T.O.



SECTION - 11

Q.1) Explain in brief Machine Language, Assembly Language and High Level
Language. [06]

Q.2) What is an Operating System ? Write uses of Operating System. [06]

Q.3) Explain the following MS-DOS Commands : [06]
@ COPY
(b) MD
(c) CD
Q.4) What is LAN ? What are its main objectives ? [06]
Q.5) Explain the following terms : [06]

(@ Half Duplex
(b)  Full Duplex
Q.6) What is meant by Topology ? Explain in brief various types of
Topologies. [06]
Q.7) Explain the following terms : [06]
(@ IP Address

(b) Internet Protocol
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F.Y. B. Com. Examination - 2010
TAX PROCEDURE AND PRACTICES
PAPER - 11
STATE SALES TAX AND CENTRAL SALES TAX
(Vocational Course - 1)
(Old 2004 Pattern)
Time : 2 Hours] [Max. Marks : 60
Instructions :
(1) AIll questions are compulsory.

(2) Figures to the right indicate full marks.

Q.1) Answer in 20 words each : (Any Seven) [14]
(1) What is “VAT’ ?
(2) What is meant by ‘Declared Goods’ under CST ?
(3) What is meant by ‘Set-off’ under M. VAT ?

(4) In which Form application for Registration under CST Act
IS to be made ?

(5) What is meant by ‘Appropriate State’ under CST Act ?
(6) Explain the term ‘Dealer’ under M. VAT Act.
(7)  Who can sign ‘Return’ under M. VAT Act ?

(8) When person is liable for ‘Compulsory Registration” under CST
Act ?

(9) What is meant by ‘Documents of Title’ to the Goods ?
(10) Explain “‘Sale’ under M. VAT Act.
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Q.2) Answer in detail in 50 words each : (Any Two) [08]

(1) Enumerate and discuss Forms for Concessional Rate of Tax
under CST Act.

(2)  When sale is said to take place ‘Out-side’ the State under CST
Act ?

(3) Explain Consequences of “‘Non-registration” or ‘Late
Application for Registration’ under M. VAT Act.

(4) What is meant by ‘Turnover of Sales’ under M. VAT ?

Q.3) Answer in detail in 150 words each : (Any Three) [18]

(1) What is ‘Audit’ under M. VAT ? Discuss objects of Audit under
M. VAT Act, 2002.

(2) Discuss principles for determination of Sales or Purchases in the
Course of Inter-state Trade and Commerce.

(3) What is Form of Return under CST ? Who has to file returns
under CST Act ? When ?

(4) What is ‘Tax Invoice’ ? Enumerate contents of Tax Invoice.

(5) Enumerate certain sales and purchases not liable for Tax under
M. VAT Act, 2002.

Q.4) Write long answer in 500 words : (Any One) [20]
(1) What is the Incidence of Tax under M. VAT Act, 2002 ?

(2) Discuss provisions for ‘Registration’ under CST Act.
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